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Reference |- € + p plt)
Feedforward | . >+
Compensator
Yal(t)
N v

O 3.2: PFCODOOO SACODOO

00000000 ASPROOOOOO SACOOOOOOOOODOO0000O00O
0000000 ASPRODOOOO0000 ASPROOOOOODO.00000PFCOO
000O00SACOOO0O0O0O000.

000000 ASPROOOOO32 0000000000000000000000
00000 F(s)0O000

Ga(s) = [9aij(8)]ij=1,..m = Gp(s) + F(s) (3.17)
G(s) = Gp(s) = [gi§(s)]ij=1,.m = C(s] — A)T'B = ——=B(s) (3.18)
000000

1. Gu(s) O ASPR

2. 00 e>0000000U0LSw<SwoUUOOOOODOO

303 e} — g} < e (319)

=1 k=1

00000000 F(s)OOOOD.0OODOOOO0Ooooooooooooooooo
uo.
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(1) 00000000.00000000000000 2(s) 0 Hurwitz(monic) 00 0.
(2) ®(s) 0000 000000 (r=l,...,m) 00000000.

(3) G(s) O (i) OO g;(s) DOD DD (v = 2,0 #5) 000000 0g;(s) 000
ogoooooooon.

ooooo.

degp(s) —degz(s) =d <> v =dy (3.20)
=1

(5) lgi(50),(: =1,..,m) 0000000.

oo 3.1 I

PFC OO0
00 2(1),(2),4) 000000000 (3.17)000000000000000

1

F6) = o iaglpufa(s) st fnls) (3.21)
pe(s) + n;0 HuwitzOOO (F(s)DOODODO) (3.22)
fi(s) + (ny—=v+1)0 monicO OO (3.23)

ooooobboOp,reM=1,. mO0UOO00OOOOODOO

> f[ pifi(s) | @[e1...2] (3.24)

1<i1 <. <ip<m L=t
- - JFi -t

oogopoogd bh(hzl,...,m)DDDDD
b=bp > by 1> .. > b > b =[] ps (3.25)
7—1

000000000, ®g....,)008(s)000 ¢;,.., 0000000000000 O0OO
000000000 $(s)0 hOOOOOOOOO.0000G,(s)00000D0ODO0ODO
gb100404d.



16
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Augmented Plant with Multi-Parallel Feedforward Compensator

u(s) Y(s) Ya(s)
G(s) ¥ N
R T
! Fi(s) !
| |
| F2(s) |
| : !
| |
I i . I
i eneeon S i
L_f® _ — - - - . _
Ga(s)
0 3.3: PFCOODO

oo 3.2 I

0000000000p; >0,i€L,p;=0,ic N(L+N=M)000.0000G,(s) 0
00 3.2(1),(2),4) 0000000 (44,6l 0000000010000,

oo 3.1 I

00 32000000 ASPRO0OOO0ODOOO.O0000DODDOOOODOOOO
00000 Fs)DOOOoOOoooooo.

god

Ym—1
Y. Fi(s),yu = max(y:) (3.26)
=1 ieEM
diag[Pil/dil(s)a"'7pim/dim(3)] (3'27)
(v;—1) 0 monicO O OO0 (3.28)
i > 0 . —1) >0
{PJ ('7J ) (3.29)
pij =0 (7;,—1) <0
Gai—l(s) + Fz(3)77' =1, -1 (330)

G(s) (3.31)
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gob.bgdbgboodoooooboobooooognn

Tm—1

|9k (70)| > D7 |pin/din(50) |,k € M (3.32)

=1

00000000000000.0000000
Ga(s) = Gayar-1(s) = G(s) + F(s) (3-33)

0000 1000 200000000.000G(s)+F(s)000000000O0DODOODO
go.

go,bobdggodboboodooouob,oooooobbobobobobn
gboobo,0bgdgoobooooooboobbob.booboooobbboogo
gooo.



Jobodooboboo o
MIMO-SAC 0O 00O 0

— oo oooboooogn —

4.1 0O0O0O0O

0000000000000000000,n0 10000000 MRACSOOOO
00000000000000000004n000000,000000000000
0000000,00000000000000OCDODODODOOODO (18][14. 00000
00000 0000000000000 SAC (Simple Adaptive Control - 00000 0O)
goad.

000000000000 (MIMO-SAC = Multi Input Multi Output Simple Adaptive
Control) 0 OO OODODODODO (LSS = Large Scale System) DO 000000 O0DOOO
Oooo0. 00,200 (200 200)000 300 (300 300)0000ODOOO
doodooooooooooo. oogooooboobooo,goouoooooooooo
00000000000000,0000000000'M000,000 (000000)
dodooooooooo,dbooodooooo. oo, 00oooooooooon
dooooooooooobooooouo,ooobooooooo. oo oooo
go,0o0b0d0ooooooboooooo,booooo oo booooooooan
gooooo.

looooooooooo

18
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gooboobuobogb,ogobobobbbboobobbboobboboooon.
goo,bbgbbobobodgbobobbooooboobobobobobbboobuooooon
O0000.00 p|0000000000D0oOD0000o0oooUooOOooO,0ooo
gboobbbbobooooobobobobobboobuoobooobbbbobbbooaon
goooo.

gooboboboogdo,bbogobboodoooo.boobuooobobobooo
g,ggbbooboobooooboobobobobobbob,odbboooo,bbbogon
gobooodg.obboo,bbobbdoooobobbuoooobobooobon.

4.2 OJ00O0OO0OO0OOOOOUOOOO0OOOO0O0OOO0OO
0og

00000000000,000 MRACS (OOOODOOOOOO)oOooOoOooOOO
goobo,bggb,jgdboobooobuooboo,bgoobboobouooaba
goboboobodoobobooag.

OO0 MIMO-SACOODOOOOOODODOODOOOO 41000.

O 4.1: MIMO-SACODOODO

HEN goo ooo ERERN
00000 O(nm(nm +m))  O(npm(nm +m)) T
oooo O(m(nm, +2m)?) O(m(n, +2m)*) m(2m + n,,)
PFC 0(m) O(m) O(3m)
afafslafsfs O(m?) O(m) m

000,000 (0C00o000000)0000oo0o0oOo00O0.oooooOoO0d
g, gboooogoobo,gbbbbboooouoboboobobbobooonb 2000
gbogobodgo.gbob,jgobobbboobbooboo,bbobbooobob
I O A N

good,boobooboboobobuodgboooobo,dogduoouoo,oboboa
gogooooooobuogbobboob.bobooobboboboooooboob,oon
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ao.

4.3 0000 OOOOOOOOOOOO0O0OO

4.3.1 Q00U oooooooooood

goggobodbgboobooobobooooob,bbobobo,gunboooo
goduoouoooooboboboooon.
gboboboooobbbood

r = A,z, + Byu,
y = Cpzp, + Dpu, (4'1)
z€R”,zc R,z c R

ooooooooo. oo, A,B,C,D, 0000000000 0D00O0OO, (4, B,) 0O

oooo, (4, ¢,)00000000000000.
goboogg,gubbobuoogodaa

Y= Cm@m + Dpum, (42)

teR"™ zc R™ zc R

gogon.

oo 4.1 I

. 00000000, b0b,SPROOO
2. 000000,0000000
. 0bubobobbougoobobbuoooooouubbobobbooobn

4. J0OO00OLObOOoOobObO,0000boboboboboboooooobbbbooa
gobobbooobobobooobbobon
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goob,bogooooobo.

oo 4.1 I

00000000000 (Ixm,) 0
Gy(s) = Cy(sI — 4,)7'B, + D, (4.3)
00,000000000000 (X m,y,)0O
Gm(s8) = Cr(sI — A) 'B,, + D,, (4.4)
oooooooo,
G(8)Gels) = Gn(s) (4.5)

00000000000 000000000 G(s), (myxm,)O0O0O0O00OO.

(3.8) 0 OO Broussard U0 [10)00,000000000000,00000000
ooboob0 2000 «.*00004,

wm

Um
lw*] _ [511 Stz o0 Stksz o um (4.6)

u* So1 S22 - S2,k-|—2 :
ul¥
DDDD,(3.8) oood

GC(S) = 521[3_[ — Am]_le —|— 3921[[ — 3911]_1512 ‘I‘ 522 (47)
oogd. |

OOo0o00,0000 SACOO00oO0oOOoobooob.oo,0oopoooooobooo
gbogoooooon.

oo 4.1 I

oOoo0bOooOOoobObOo0b,b00b00 SpPROODOUOODDOODODO,0D0000DO
O0000000000O0O0O00O0000D @5 000oooo.
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4.3.2 SACUO0ODOOOOO 1

G, (Ixm,)0000000000,G, (Ixm,)O00000000000,G, (m,x
m,) 00000000000000000,000000000000, (450000
oooo.

00000000000000000000 G 0000000000. 000,00
0Il<my,l<m,0000,000l=m,=m,00000000.00000,G,0O
oooooo,

G.=@G,'Gn (4.8)

goo.
SACOO00O0OO0DOO0DOO0O0O0Oo,0b0gobDooob,obooooo.

oo 4.2 I

G,000000000O0 (0000000)000,G6 00000000200000
00000.0000,n,=m0O,

bi

= di i 4,
Gm(S) la'g[s _I_ ai]z:1 ( 9)
0o0.G,0OOOODODOoOooooo,
Goij(s) =0, (i # 5,Gpyj = 0) (4.10)

gooo.

5]

DDDDDDDDDDDDDD,GmDDDDDDDD,G;lDDDDDDDDD,GCD
gooboboooo.ob,oobboooboboobo,bbobobboooob,oo
DDDDDDDDDDDDDDDDDDDD,Gp_lDDDDDDDDD. DDD,Gp_l
oooboboooobboo,@,0o0b0oooDbo. [

0000000000000 00D,00000000000000000000000000000
go.
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4.4 O00OO0O0OO0OOOOOO0O

4.4.1 SACUO0ODO

SACO,00000000000000000000000000000000, O
000000000000000000000,000000000000000000
oo.

SACOOO0ODO,

e MRACSOUODOOODOOOODODODOOOODOODODOODDOOOUDODOOUODOOODO,
SACOD0000D0DODOO0ODO000D K:Ooboobooooooooooooo
I I O

e UUODODODOOOODLOUOODLOODDLDODLODLDODbDOOOLDD.

e 00D DOUO0OUDLUOUOUOLLUOUODLUDLDLLUODODLbOOUUOObLDLDOOO
gooooobooboobodd.

oooo.

000,000000000 MRACSOOOOOOO0OO0O0O0O0O000000000O
0,0000000000000000000000000,000000 SACOO00O
0000000 (ASPR)ODOO000OO00000 K,*000000000000000
000000000000000000,0000000000000000000 (O
00 MRACSO)OOO.

00,000000 SPROODOOOOO0O0O00O0O0OO,ASPROOOOOOO0
00000000000000000000.

oo 4.2 I

ASPRODOO0O0O0O0O0O,000000000000 K*O0OOODOOO.000,0
0000000 (4 =4,+ B,K:C,) 0000,000000000000 G;}0,0
0000000000000000G,'00000000000,(48)00000,G,;?
00000000000000,000000 GOO0O0000.
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(23) 00000,

Gpe(s) = (I — Gp(s)KZ) T Gy(s)
Go(s) (I — Gp(s)K?)
Gp(s)™' — K (4.11)
K:0 G,'000000000 Gloooooooo.

G, l~0,:#3) 000,

5]

(4.12)

Gei; =0

c1j

gooo.

oo 4.2 I

OO0 410000 SPROOCO ASPROODOODOO.

4.4.2 SACUOUO0OOOO0O 2

g4100odgodo,gbooobbodoooobooooooobobooo. o,
SACO000OO0O0ODOO0ODbDDbOoOobo,0b0ooooboooUob,ob0ooboDOobbOoboO.

oo 4.3 I

l. Jgodoooooobobooooboogd.

2. 000000000 TN0U0000DOOOO0O0O0O00. I = diagl)2, .

w

LK. () 0DD0DD0000000000,00000 Kejy(E=2,..,mif = 1,...,6—1)
0Ogooooooooon, K.

i — fleji-

4. 0000000000000 oogoooooog.
Gt ~0,(i#4) 000,

K.;;(t)=0
Kois(t) =0 (4.13)
Kuis(t) =0

J
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00 43 (10 3)0,SACO00000DOO0O0OOOOOOOOOn.

e 10,5ACO0U0D0O0ODODOO0OOLOODDODODODODLDOODOO
e 200 I'DODOOOODLOODO
e JUOUOLODODODOOOODOO

b 430 400000,000b0b0b000b0o0booo.boboobboboao
0000000000000 000,00000000 (=m)00O00OC00O0O0O0.m=1
ooo,00000 8S1Iso00ogo,00b00oobooobooo0o0.m>1000D00O
00ooooooooo MIMO)OOGOo,00gooooog,

e NUUOOODOODOO
e UUOOODODOODOO
e HUUOLODOOOLOOODLDODLD

gboobbooobbbooobboooaag.

4.5 U0O00OOO0OOOOO

gbhboogbbboogoobooboooboboobobooboo,bbobbobobbobn
goobood,ggooobbooboboobboboooooobobboo,0da
gobbobbdobooboobbooobbo,boobbobobbobboouooooboon.
gbbooooobbbooobbobboon.

4.5.1 00000

gooboob,budgoggbooobogon.

wml = aml wml —I_ bml uml ? yml = cml wml
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mssmmms  Main control signal

mmmm extra control signal

interferences

0 4.1: 000000000

:.Bm2 = a’m2 wm2 —I_ bm2 u7TL2 9 ym2 - C‘In2 wm2
(4.14)
ooono
:.Bml a’m1 0 0 wml
. :.Bm2 0 a'm2 : wm2
Ty = = .
0
Ton,, 0 .- 0 amn, T,
bm, 0 0 Um,
0 b, - : Uy,
+ . " (4.15)
: .. .. 0 :
0 0 bl Lum,
Ym,y Crm,y o --- 0 T,y
Ym 0 cn, - : Lo
ym=| . | =|. . - (4.16)
: : .. .. 0 :
Ymom 0 0 cnm,, T,
ooo,

Ny = M
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mx1
Timy U, Ym € R

Am,-Bm,Om E Rm)(m

goo.

4.5.2 0O00O0OO0OO

0000 (0000)0000

o =A1zy + buy + EkEnyi 4+ o0+ EinUm ylchwl
. . . ; . (4'17)
im = Amwm + bmum + klmyl + -+ kmmym vy Ym = Cz;wm
DDDDDD.DD,kijijDDDDDD.DDDDDDDDDDDDDDDD
(sI —A)Xi = bUi + knYi + -+ + EkipY. YlZC{Xl
. . . ) . (4.18)
ogdno.
ogd 4.3 I
000 kyy, D0OOOO0O. 0000
> ksl < A [As][16]]
7=1
ooo,0dooooboooooooooooboooooooooao.
doooooooooo,goooooooood
Tp, = Ap Tp, +bp Uy, , Yp, = C;flwpl
Tp, = ApTp, +0pUp, 5 Yp, = 011;2 Lp,
(4.19)
:.Bpm = Apmwpm —I_ bpmupm 9 ypm = cgmwpm

goooogo.
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oogoooo
Ty Ap, 0 0 Lpy
T 0 A T
Tp = 7= Apzp + Bpu, = . " 0 ?2
wpm 0 0 Apm -wpm
byy 0 oo 0 7T u,
0 & : U
T r (4.20)
: .. .. 0 :
0 0 by, Up,,
Yps 011;1 o --- 0 T,
yp2 CZ; in2
Yp = = Cpzp = (4.21)
Yprm 0O --- 0 cgm Ty,
goo.ooo,
Tp € Rnp)da”’p Z M 2> M
up7yp c Rmxl
Ap E RannP,Bp E Rnpxm,Op E Rm)(np
gog. oo,
Lp;sYUpss Up, (7:: 17"'7m)
O,0000boooouooooobooouoog.
god,00o0doooooooo
G, = C,(sI-A,)'B, (4.22)
c;fl (sfnp1 — Apl)—lbp1 0o .- 0
0 .
a 0
0 0 c;fm(sfnpm — pm)_lbpm

goo.
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4.5.3 U0OOOgogdg

ogoooo
€1 = Yp; = Ymy
€2 = Ypy = Ymy
(4.23)
em — ypm - y’ITLm
gooo,0o00oooobooboooooooaoaa
Up, = Klzl = Kelel + Kmlwml + Kuluml
Up, = K222 = Ke262 + Km2wm2 + Kuzumz
(4.24)
Up, = Kmzm = K em+ K Tm, + Ky, tm,,
0O0D0.00,MIMO-SACOO (0 30)00,
K Kip .- 21
Up = Kz = K21 K22 Z9 (425)
Kell Kelm Kmll Kmlm Kull Kulm
KEml e KEmm K:L’ml e K:L’mm Kuml e Kumm
Xler <o+ em | Ty vt Tmn | Umy v umm]T
000, (423) 000 (4.25) 00
K, 1=y
K;; = o (4.26)
0 v#7
gogdoooooo.oono,
Kel 0 0 Kml 0 0 Ku1 0 0
0 : 0 0 :
K =
0 0 0
0 0 K. 0 0 K, 0 0 K.
(4.27)

googbo.
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== Main control signal

mmmm extra control signal

0 42: 000000

4.6 U0O00OO0O0OOOOOO

OoOooobOooboboooobooo,0obooboobboooboooog, S1SO-
SACO0000O0DObOobO0oOoOo,bo0b0bDO0b0U0oobOoUoUoOoOobOooobOo
googogo.

good,bobgdg,bbbbooboboboboo,bbobooobbboobbooadad
goobbooobooooooo.gbobob,gobboboboooobobooa,
g1o0o0odd 200b0b000bobooboobo,g1l1bbboo4000bbbboon
gobobodoobobooobooooao.

I A I A

g 4.4 I

00000 « 1<x<m)0000,000000000 K(t) = [K.(t),K,(t), Ku(t)]
0oo0o0o0oooooo.

Kell Keln 0

. Kem—n m
K.(t) = . . (4.28)

emm
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Kmll e K:L’ln 0
.. Kmm—n m
Ko (t) = . (4.29)
K. :
0 K:L’m,m—n—l—l K:L’mm
Kull e Kuln 0
. Kum—n—l—l m
K,(t) = o 4.30
0=y o (4:0)
0 Kum,m—n—l—l e Kumm

Ub,x=100,000000000000000000000.4040,bbo0bod
gbobbooodud,~=m000,0d0b0obooouboobbobboobbbbod
googo.

5]

gboboogooobooooboo.

4.6.1 OU0O0O0OO

O000o00O,000000000 4510)0000,0000000000.

4.6.2 UJU00OOOO4d

0000000000, m=3,«x=2000000000 (00000000000 m
000 «00000O00OCOOO).

;= A1y + brug+ 0 +  kiys + 0 ;Y1 = ] T
Ty = Aoy + boust+ karyr + 0 4 kasys 5y =)o (4.31)
3 = Agzs +bgug+ 0+ kgaya + 0 1Y = cj 3

000,k 0000000000.00000000000000000

(sI —A1)X: = biUi +0+ kYo +0
(sI —A3)Xo = boUs+ koY1 + 0+ ky3Ys (4.32)
(sI — Ag)Xs = byUs+ 0+ kgyVs + 0

Yi = C{Xl
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Y, = CgX2
Y; = C;I;X3

gbobo,0dodobo0oooodgn

Vi = of(sI— A7 [byUr + 0+ kypYs + 0]
Y, = Cg(SI — A2)_1[52U2 + k21 Y1 + 0 + kosYs]
Ys = c3(s] — A3) ' [bUs + 0 + k3oYa + 0]

1 —c{(s[ — Ay) ko 0
—cT(sI — Ay)~tky 1 —cT(sI — Ay)tkyg
0 —cT(sI — A3) kg 1
cF(sI — Ay 0 0
= 0 eI (sl — Ay) 7ty 0
0 0 cx (sl — A3)7tbs | |

Oo0o0o0oooo0 G,0

1 —0:111(3_[ — Al)_1k12 0
Q = —0:211(3_[ — AQ)_1k21 1
| 0 —cg(sI — A3)_1k32 1
-Cclr(SI — Al)_lbl 0 0
P = 0 cg(sI — AQ)_le 0
0 0 cg:(sf - A3)_1b3
goaoo
G,=Q'P
-1 -1
G;'=PQ

—0:211(3_[ — AQ)_1k23

(4.33)

(4.34)

(4.35)

(4.36)

(4.37)

(4.38)

goo.ooogoobooob G’;lDDDDDDDDDDDDDDDDDDDDDDD

gd.

G, Gl 0

P11 P12

Gl = |Gyl Gy Goyi

p P21 P22

0 G2} Gt

P32

(4.39)
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goo,0gbobbooboooobbouobobobbooooooooob.boboa,bon

0 Gyl O,
Qll le
Q = | : :
le Qmm
P = diag[P], (i=1,---,m)
ooooo,
Gpi_jl = Pi_lQij
goo.

4.6.3 U0OOO

46200000000 DOOOO,0DO000O0O00O0OLODOOO

_ -1 _ -1
G. = G'G,=PQG,
goodoo.oog,
1
cT(sI—Al)_lbl 0 0
-1 1
P = 0 g‘(sI—A2)_1b2 0
1
- 0 0 g‘(sI—A;;)_lb;;
Cm1 (SI — Aml)_ bml 0
Gm == 0 Cmg‘(s_[ — Am2)_1bm2
0 0 Cmg

goo.oo,gobooobuodgoboobboobbobo

U, = GJU,
Gcll
Gc21

0

Gc12
Gc22
GC32

0
Gc23
GC33

Un

oooooo
(4.40)
(4.41)
0
0
(sI — Apmg) *bpmg
(4.42)
(4.43)

I A O
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34
SACOD,{, 00000000000000 KOOoooooo,
Kll K12 0
K = K21 K22 K23 (444)
0 K32 K33
googodo. |

4.7 UO0U0o0d0odooooooon

=ssmmms  Main control signal

mmmm extra control signal

4

4 s
*

R4

777
[ MIMOSAC ]

SubSystem
1
4 J

d
! SubSystem ( R
: 2
H B b 4 SubSystem
[ ] 'i 5
' ’
H SubSystem J

?
H 3 AN « | X
H J J
! ; SubSystem 4
! ’ ’

’

'
'
1
'
1
I

(Reduced SAC

0 43: 000000000000

go,0odbdooboodogouoouobobboooo,bobbbooooon
gbbodogbuoooooboboooouoooobo,ob,oobboboobobobod

googoboboo.
goo,gdobbooogbobuoooobooaag.
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4.7.1 00000

O00000,000000000000 (451 0)0000,000000000A0O.

4.7.2 000O0O0O0O0O

gooobbboodd,m=400000000000.0000,000000000
I O A N

;= Az +bu+ 0+ kpys + 0 0+ Ry

&g = Asxg + baus+  karyr + 0 +  kazys + 0 (4.45)
3 = Aszg + baus+ 0 +  ksys + 0 +  ksaya

ty = Agzy + bgugt+ kuyr + 0+ keys + 0

rT .. T T o
Y1 = C1 T13Y2 = CoT23Ys = C3T33Y2 = CyT23Ys = Cy Tq

O00,k;00000D0000D0.O0000000O0DO0OODOOOODOO

(sI —A1)X; = biUs + 0+ kYo + 0+ k1Y,
(sI — A3)Xy = byUs + koY1 + 0+ ko33 + 0 (4.46)
(sI — A3)X3s = bgUs+ 0+ k3aYo + 0+ kgsYy
(sI — Ay) Xy = baUs+ kY1 + 0+ kasYs +0
Y1 = C{Xl
Y, = X, (4.47)
Y; = C:I;Xl
Y, = ;X3

i = o

Yy = c(sI — As)  [byUs + ko1 Y + 0 + kasY3 + 0] (4.48)

Yy = o
T
4

Yo, = ¢
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1 —c{(s[ - Al)_1k12 0 —Cclr(SI - Al)_1k14
—0:211(3[ — AQ)_1k21 1 —cg(sI — A2)_1k23 0
0 —cg(sI — A3)_1k32 1 —cg(sf — A3)_1k34
—CZ(SI - A4)_1k41 0 —CI(SI - A4)_1k43 1
[Y; Cflr(SI — Al)_lbl 0 0 0
}/2 0 cg(sI - AQ)_le 0 0
X =
1[3 0 0 c?,:(sf — A3)_1b3 0
| Y, 0 0 0 cf(s[ — A4)_1b4
_Ul
Us
X (4.49)
Us
LUy

Ooooooooo 6,0

0 - (4.50)
1 —Cclr(SI — Al)_1k12 0 —Cclr(SI — Al)_1k14
—0:211(3_[ — AQ)_1k21 1 —cg(sI - AQ)_1k23 0
0 —cg:(sf - A3)_1k32 1 —cg:(sf — A3)_1k34
—CZ(SI — A4)_1k41 0 —cf(s[ — A4)_1k43 1
Cflr(s_[ - Al)_lbl 0 0 0
0 cI(sI — Ay)7 b 0 0
P 2 2)" b2 (4.51)
0 0 cg(sf — A3)_1b3 0
0 0 0 cf(s[ - A4)_1b4
oodd,46200000
G,=Q'P
G'=P7'Q (4.52)
god.oooooooooa G;1DDDDDDDDDDDDDD.
Goi Gory 0 Goyy
Gpolt Gom Gyt 0
G;l _ P21 p2_21 172_31 3 (4.53)
0 Gp32 Gp33 Gp34
Gor 0 Coyg Gy
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4.7.3 0000

472000000000000,b00bDDbDObDbOoO0bOoObOoDbDOD

G. = G'G,=P'QG, (4.54)
goodoo.oog,
1
cT(sI—Al)_lbl 0 0 0
1
pro| 0 geEemm ) (4.55)
1
0 0 g‘(sI—A;;)_lb;; 0
1
0 0 0 Z‘(SI—A4)_164
G = (4.56)
Cm{'(sI — Aml)_lbml 0 0 0
0 Cm?3 (SI — Am2) 1bm2 0 0
0 0 Cm3 (SI — Am3)_1bm3 0
0 0 0 CmZ(SI - Am4)_1bm4

goo.oo,gobooobuodgoboobboobbobo

U, = G.U,
Gcll Gc12 0 Gc14
_ Gc21 Gc22 Gc23 0 Um (457)
0 Gc32 Gc33 Gc34

Gear 0 Geag Gewy
gdododoooood. oo, onooooouooooooooon.
SACOO,G. 0000000DO0DOO0DO000ODO0 KOODOooooao,
Kii Kis 0 Ky
Ky Ky Ky 0
K - (4.58)
0 K3 Ks3 Kas
Ky 0 Ky Ky

goooogo. [

4.8 U0O00O0OOODOOOOOOO

gbobogooobbobobboooooobooog.
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goodn

gbobboobobogouobobbbooobooooooon.

Tm(t) = Apzm(t) + Brum(t)
Ym (¢ Cnm(t)

A, = -1,

—

1
Gm(s) = oy 1Im

N A A I

gooo

0000000000000 00oooOD 400 400).

2p(t) = Apzp(t) + Bpuy(?)

ol
yp(t) = Opwp(t)
B, = Cp,=1

e JODOOODOO
3 0.001 0.0001 0

0.0005 2 0 0
4, =
0 0.0002 4  0.0004
0.00003 0 0 1
e 000000
3 -3 0 0
-1 2 3 0
4, =
0 2 4 -2
0 0 -1 1
e 000000
3 -3 0 0
-1 2 3 0
4, =
0 2 4 -2
0 0 -1 1
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goooobobodgd

000000000000 000000000000000000. (O 440 O 4.9)
OO0oo0o0Oooo0o,b0o MIMOSACOODOODOOOD SACOOOOOOoOooooooo
Oo00o0OO0bO0.0000b0b00b0ob,0b00 SACO0obOOoOooooog MIMOSAC
gooboobbobooobbooobobo,0 440 D 490 ,000000000
gbod400000bo0oooobobboodoob o0lsggoobg,bbb b
goobodogog4ocogbboobuoooboboboooobobb.og,buobn
OO0 1woo000000000D0ODOODODOOOO,000 MIMOSACODOODO 2100
OO0o0oooobo,000 SACOO0U0DbD 120,000,000000D00DODOOO
goobbodobooog,guoogoboobuoo.oobo,gbbbbobb,o0booooa
gooobo.

0 42: 000 SACOODOO

0 gpod gog oOdgo
ogoogo 2m m m
ooon O(mk) O(mk) O(mk)

gbobodebbobobbobOo,oboobbobbbooboobboooboond
gbbooooobbodoo. oo boooobobobbobbb,000o
O500000000000000 MIMOSACOODOO,000 sAcCOOoOoooO,O
gobobooobobbbooboboboboooooobboooobooooag.

00,0 420,000 SACOOOQOOODOOOOOOO (oOO,0000,000)
00000000, oo,00000000000D0 (=m)00O000,x0,0000
gbgdddbodoooooooobobooboobobboboboobbbuobboooouog
googo.

00,0000000000000000000000000000O0O ( msacsim2.c O

00 msacsim3.c ).
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Kell..Keld

Ke3l..Ke34

15

-15
0

4 OD0O0ODOO0OOOOODOO MIMO-SACOUOODOO

Yp [rad]

15

10

(a) MIMO-SAC

15

20
time [s]

25

U 4.4:

4000000000000 00

30

35

40

-15
0

(b) 00O SAC

15

20
time [s]

25

30

35

40

Ke21...Ke24

Kx11..Kx14

Kx21..Kx24

Kull..Kuld

Ku21..Ku24

Kell..Keld

Ke3l..Ke34

o 10 20 30 40 o 10 20 30 40 0 10 20 30 40 0 10 20 30 40
time [s] time [s] time [s] time [s]
0.
0
3 3 FS 3
3 3 3 3 3
M < M 2 2
- -10 H _‘ o
ke g 5 g g
-60 ¢ < M+ H <
-20
-80
-1 -2
o 10 20 30 40 0 10 20 30 40 o 10 20 30 40 [ 10 20 30 40 o 10 20 30 40
time [s] time [s] time [s] time [s] time [s]
(a) MIMO-SAC
0. 0. 0. 0.
20 -20
-40 S I-05 3 1 3
£ 40 i M 205 2 <
60 o i ! e 4 4708 o i
o -60 i o o -1 o o
-80 2 Z-15 2 H < 2-05
H -1
-100 -80 2 -15
-1 - -2, -2 -1, -1
0 10 20 30 40 o 10 20 30 40 0 10 20 30 40 0 10 20 30 40 10 20 30 40 0 10 20 30 40
time [s] time [s] time [s] time [s] time [s] time [s]
1 0. 0. 0.
|
B 3 3 FS 3
50| s 3 g 3 3 3
M < M 2 2
bt HE TN < .
H RS g N (NS . E
-100 | £-40 < Y e - 3 ! i 2 k]
| 2 i [ ! i !
| ! _sol I | | "
-15
o 10 20 30 40 0 10 20 30 40 o 10 20 30 40 10 20 30 40 30 40 10 20 30 40
time [s] time [s] time [s] time [s] time [s]

U45:40000000000000O000O00O0O

(b) 00O SAC
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Yp [rad]

41

40

15 15
1 - em e — e [ R ——— -
// | v // ! -
/ ! / ! /
/
i | ‘,/ y | “/
0'57/ I i N 0'5,/ I 1 -
/ | | ‘ \ J
| | h / ! 1
i ' ' — [ t |
i | [ i ! |
of ) | 1 £ o ' | 1
\ | o 1 |
[ £ | [
' | |
| | ' )
1 [ 1 f
-0.5r \ | 1 -0.5r \ | B
N I \ I
\
| ! N !
N | . '
-1F S oD e l N -1F —— e ! B
15 I I I I I I I 15 I I I I I I I
5 10 15 20 25 30 35 40 5 10 15 20 25 30 35
time [s] time [s]

(a) MIMO-SAC

(b) 00O SAC

046: 4000000000000

Kell..Keld

<
3
°
<
&
9
<

Kx11..Kx14

Kx21..Kx24

Kull..Kuld

Ku2l..Ku24

o 10 20 30 40 0 10 2 30 40 0o 10 20 30 40 o 10 20 30 40 o 10 20 30 40 o 10 20 30 40
time [s] time [s] time [s] time [s] time [s] time [s]
. 2 0.
1
3 3 3 3
3 3 3, 3 3
M M < M 2
g g g1 3 g
g 2 g 3 g
¢ ¢ g M 2
-100
-2
o 10 20 30 40 0 10 20 30 40 [ 10 20 30 40 o 10 20 30 40 [ 10 20 30 40 10 20 30 40
time [s] time [s] time [s] time [s] time [s] time [s]
(a) MIMO-SAC
1 0. o. o
-20 1
< 3 < < 5 3 ]
3 0 § -40 3 3 3 3
e g 3 g-0s 2-05 2-05
E 4% 47 4 Ei Ei
3 g E g g g4
£-100 g -80 z, M 2 E
~100 -15 -15 -15
-1 - - - -2
o 10 20 30 40 o 10 2 30 40 o 10 20 30 40 0 10 20 30 40 0 10 20 30 40 0o 10 20 30 40
time [s] time [s] time [s] time [s] time [s] time [s]
1 1 1
50}~ 7 = -
\ 10} . ) osf
£-100 L B3 Iy P g1 N < I ! < = bl
E - 470 1 Y o o sl ') ! o ,r o [ V -
g -150 3 IS A g2 3 / g : g v \
M 2 ol e i % 2 4 V) \ 2 . 2 0 - L
-200 | -3 Y N N \J N/
[ N \ /
-4
o 10 20 30 40 0 10 20 30 40 o 10 20 30 40 10 20 30 40 o 10 20 30 40 10 20 30 40
time [s] time [s] time [s] time [s] time [s] time [s]

O 4.7:

(b) 00O SAC

4000b0b0oo0oboobobooobobon
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Ke3l..Ke34

Kell..Keld

Ke3l..Ke34

Kell..Keld

15

-15
0

4 OD0O0ODOO0OOOOODOO MIMO-SACOUOODOO

Yp [rad]

15

10 15 20

time [s]

(a) MIMO-SAC

30

35 40

-15
0

10 15 20

time [s]

(b) 00O SAC

048 400000000000

40

Ke21...Ke24

Kx11..Kx14

Kx21..Kx24

Kull..Kuld
Ku2l..Ku24

0 10 20 30 40 0 10 20 30 40 0 10 20 30 40
time [s] time [s] time [s]
2 2 2 2
s s 3
3 g i g
g 2 -4 E
g g 3 g
-50 M -4 I+ 2
i -
o 10 20 30 40 o 10 20 30 40 [ 10 20 30 40 o 10 20 30 40 [ 10 20 30 40 o 10 20 30 40
time [s] time [s] time [s] time [s] time [s] time [s]
(a) MIMO-SAC
1 o. 2 o
-20 -20 1
1
-40 S -0 3 o5 3 1 3
¢ g g-os El \ 2-0s
60 4 % o o < N o
g b= g a g g
-80 g -8 $-05 2 < =
-1
-100 -100 -1 -5 15
-1 -1 -1 -2 -2 -
0 10 20 30 40 ] 10 20 30 40 0 0 20 30 40 0 10 20 30 40 0 10 20 30 40 0 10 20 30 40
time [s] time [s] time [s] time [s] time [s] time [s]
1 2 1
-50f o i 1 N -
v 3 TN 3 | 3 , \ Eil 3
“ S 3 N 3 | 3 2 3 | " 3
-100 TN P S . 3 7 g AN SN EH
" - -100 i AN s E / N b / E =
-150 3 g-2f N / $-1 / 3 Ny 3
2 I+ . N < o 2, \ <
-200 -3 T i of ! '\ g
N N
-4
o 10 20 30 40 o 10 20 30 40 o 10 20 30 40 o 10 20 30 40 [ 10 20 30 40 40
time [s] time [s] time [s] time [s] time [s]

(b) 00O SAC

049:40000000000000000




Joodooon
HRERERERERE

5.1 OO0

dodoooooooodoooooooooood. tooboooooooooa
O (MRACS = Model Reference Adaptive Control System) D0 0,000000000
0000 (STR = Self-Tuning adaptive Regulator) 00 0. OO0 00000000 OOO
goo,0b0o0oooooooobooon oo oo oo ooooooo, o
000! 00000000000000000,00000000000000000,0
doooooobooooooooooooooooooboooooooo,oooon
dodooooooooon.

O000,000 ASPROOOOODOOOOODOOOOODOOO SACOOOOOOO
doooooooobooooobooooooooooboo.bs20000 53000
SACOO0000000000DO0OOoDDO,s40,5.50000 600000000
gooad.

5.2 0000

OO0,000000000DO0DO0DO00bODO0O0D sAcOooOoOooobobobbooboo
OO0o0oboODOO0o000ObobO0obOobOob0ooooDODbD.obO,000 sACcbhOoO

lDooDoDO0000D0O00OO0

43



44 5. Ubobbooouoooboob

OOooobOoOobbOobOooooooooobooobbobboboooOobo.boO,SACO
gbobobooooboooooboobooon.

5.2.1 0JUO0Oooon

gboboboooobobboooooobooon.

w(t) = f(taw(t)au(t)) (51)

O000000000,000000000000000w)ODODODODOOOO0O0.000
gbo,0bodbgogboobobuoooobob,bbuodoooboboboboooo
oooobOooOOobooobO,b0ob00obOobOooboboOoboooooo. obg, ASPR O
OO000000O000b00bO0obobbOooboOooOOobDOoboOooOooo SAcobooo,go
OO00O00ooDb,b0b00b0000b0o0ob0bOobbDob0OobOOo SAcobooboogoo
gbooooooooboaoag.

goob,bodgooboogooboon.

i(t) = Az(t) + Bu(t) + h(t, z(t)) (5.2)

00,0000000000000000 Az(t)+Bu(t)0 000000 A(t,z(t) OO
00000000,000,0000 A(t,2(4)0000000,SACO00000000
000.000000000000,000 40000000000000.

oo 5.1 I

I T I O A

e HUUOOODDOOOO.

5.2.2 JU0OUOOOooooon

goboooboooob,odon

(U + R(0}d+ 5 (a)i + S(a, )i+ Boi + (a) = Do (5.3



5.2, 00400 45

0000.000,v=[var,,0.f 00000000, Jp,Bp,P0000000000N
goo,00oooooooao.
Jo = diag(J;;), By = diag(b;;), D = diag(d;;)
Jii = k*Jiy b = (boi + Ki* [ Rap) ki (5.4)
dii = kiK;/Ry; t=1,---,n
(.3) 000000 100000000,00000000000R(s)0DO000O00OO
dooooooooo Joooooo.o20,030,04000000000,00
Oo00,000000000. ¢g(¢)DODODODOODOOODO,qUOOODO (COOOD)
ogooood.
00000000 [12]0000000.

5.2.3 SACUO0O0O0OO0OODDOOO0

00,000,00000000000 (.2)0000000000000000O0OO
0000.00000,0000000000O0 (3)0000ODODOOOO.

i+ Q(9)f(g,9) +Q(q)g(q) = Qq)u (5.5)

{q,f(qwﬂ,g(Q)E-R"X1
Q(q) € R™"
ooo,
Q(g) = {Jo + R(¢)}}
u = Dv (5.6)
(3,4 = 3R(9)q + S(q,4)d + Bog
000,000000000,00000000 fO00000C00.0000,00000
000000000000000000000,00«000000000000000
ooo.
000,00000000000000,(.2)0000000000,0000000
ooo.
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l. Joogdooooobobob. oo, uobboooboboobobooboon
googooobogd.

2. 0000 (0000)0000000000000. A(t,z(t)) 0000 A(t,ys(t)) O
0000, y(t)=FEz(t) 0000000000, A(tys(t) 00000000,

0000000000 (b5)00000OOoOoOO

w.p(t) = prp(t) + Bpup(t) + h(t, yh(t)) (5'7)
yp(t) = prp(t)a Up, Yp € RmX1am =n
yr(t) = Epz,(t), yn € R™* ny <n,=2n

goooob. oo,

_Q ’
0 1 (Q)(f(Oq q) +9(q)) (5.8)
P:[ ]7 p:[ ]7Op:[In 0]
0 0 Q
B, = o)~ | 0]
PR o 1
000.00 y()0000000000.000,0000000000.
0o 5.3'
|Rii(q)| < |Ji] (5.9)

goob,dobbobogbobobbooooboboboog.

u, 00 Qg ={J+R(¢)}'000000D000O0DODODOO,00D000OO
gbood bioddgobdgbooob,bobodugoooobobobooboboooooobobo
0.00000,000000000000000000D00O,J;0r;=Ru(¢00O0O
giooogdbobuogoobobboob.bbbooobooboboobbboobn
gobooob,bogboooogooooobbboobbbobodgbobuoooboooo
[12]. OO0O,R(q)DO00000OOODO,0000000000.
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5.3 ASPR 000000

5.3.1 U000 UOgooooon

SACOO0000O0OO,00,0000 (DODOO)DODDOOOO0DOOOOOO ASPRO
gbboogoobobobobobo.oogooboo,booooboobo,obbobooboa,
goobbboogogooogoobo,boggbbboobooobobbboooon.

oo 5.4 I

o A(t,yn(t))=00 (5.7) 0000000000000 SACOOO0O0O00O000D0.

000 1(p=1)000 (5.7) 0000000

1
Gp = (5.10)

s?
0000000002 00000 2,0000 ZehebOOOOODOOOOOOODO. OO
O ASPRO0OOODOOOO,O00000DOOOOOODOODOODOODO.

5.3.2 JUUbOouuoooooboooood

300oooooo,Gy)ooooooooOO00o00DUobOOoooOOoUO0,000oo
O ASPRODOO0O.00O,0DO000000000DOOOOODODOOODO,DDOOO
00000000000000 ASPROOOODO:. 000000000 OOOOOOO
gooodn

zp(t) = Agpzs(t) + Brup(t) (5.11)

yr(t) = Cras(t) + Dsuy(t)

googobboobooboboboobboobbbooob,booobuoooobobooan
oooooobo 10000000O00000O0,0000 Dp=000,ASPRODOO

n>100000 G, = 51nQ.
3|Z|DDD,G,,:%(%:%ZI"G;,n—mZ2D (ﬁ:%
i=0 °

000000 (n+p)—max(m+pn+r)=p—r=1000.

2 p—r=1000000 G, =Gp+Gy

8

r
. d
i=0

P
L_c
i=0
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D00000.000,z(t) e R 0000000000000000. (5.7), (5.8),

(5.11) 000,00000 (augmented system) O 00 .

Za(t) = Auza(t) + Bata(t) + halt,ys(t))

Yo = Caza(l)
0o,
. 0
halt (1)) = [ (t’i’]"(t”] | QU0 + ala)
0
ha(t,yn(t)) € R™',n, =n,+ny
_ ,(t) nax1
z.(t) = [wf(t)] , z, € R
ua(t) :Zp(t)h ua(é)?ll/a(t) € R7(r)t><1
Ae = l 0 Af] e = le] B = le]
Co = [Op Of]

ogood,0o0o0 1o00d
Af:—a,Bf:b,szl

go,boggoabbobodabboboobobod

b
G =
f s+ a
0004000000000000
2p
G.=G, G, ="t lsTa@

s34+ s2a

(5.12)

(5.13)

(5.14)

(5.15)

(5.16)

(5.17)

OO00,Db0000000,0000 ASPRODOODOODO.DOO,p000000000

gogbobooooboboboobob.

00,0000000000000000 (5.12)0000,00000000000

HEN

Tm(t) = Apz,(t) + Brum(t)
ym(t) = meM(t)

‘n>1000 Gy =21

s+a" ™

(5.18)
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ooo.
ooooo,

ey(t) = Yalt) — ym(t) (5.19)

lim e, (t) = 0

t—o0

0ooo0o0ooooo.
ho(t,yn(t)) =0000000000 (5.12)0000000000000000, (),
wi(t),y3(t) 000000000000,0000000000,00000000.

B(1) = Awl(t) + Bau(t) (5.20)

ym(t) = ya(t) = Cazg(t) (5.21)
00,00000000000000000000000000000000.

:B:(t) == Sllwm(t) + Sm’ll,m(t) + 513(t) (522)
’U,Z(t) == S2lwm(t) + S22um(t) + 523(t) (523)

54 OO OUOOOO

5.4.1 0000000

O00,0000000000000000000OO, (5.22),(5.23)D0000OD0ODOO
gooo.
goobbobuoooboboboobobod

Azl(t) = wa(t) —22(t)
et) = Yalt) — Ym(t) = valt) — 20

= Ch(za(t) — 2X(t)) = CuAz,(t) (5.24)
gogd.ooo,o0o0ooo

up(t) = ua(t) = K(1)=(t) + un(t) (5.25)
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( Ky (t) R

(&ﬁf O T
/

Reference| . e\ U Yol
un | Model |37 Ke(® Plant
ad
Ho Feedforward | . i+
up(t) Compensator
Nonlinear Ya(t)
Compensator
~ J

O 51: 00000 SACOODOO

ooo. oo,

K() = [K.(), Ku(t), Kult) (5.26)
z(t) = [ey(t)Tawm(t)T7um(t)T]T (5'27)

00,000000000 ugp(t) = [ugi (), sugm(t))F O

Hi(t) = [po;» p1i po;s p1; > 0
[ 1

0= Lo
-eyl(t)

ey(t) = :
_eym(t)

ooooo,

lug;(t)| < H(t)zn(t)
umilt) = {—Hi(t)%(t) sgnfey, (1)}, [ Hi(t)zn(t)ey;(t)] > €

5.28
—{Hi(t)zn(t)}ey;(t) /e, [Hi(t)zn(t)ey;(t)] < € 29
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0000.00,e000000000.
(5.12), (5.25), 000 (5.20) 0 (5.23) 00O

AK(t) = [Ke(t) = K2, Ko(t) = So1, Ku(t) — S22 (5.29)
Aiy(t) = AsAzy(t) + Balua(t) —uy(t)) + ha(t,ya(t)) (5.30)
= AAzy(t) + Ba(AK(8)2(t) + ur(t) — Sas(t) + Kley(t))
+ha(t,ya(t))

= AAzy(t) + Ba(tae + KZCoAzo(t)) + ha(t, ya(t))

= (Aa+ BoKICa)Awa(t) + Batia + ha(t, yn(t))

= AaeAzo(t) + Batiae(t) + halt,yn(t)) (5.31)
Uge(t) = AK(t)2(t) + up(t) — Sas(t) (5.32)

O00.SACO000O00 2100000 3100 (31)0D0O0OOO,SPRODDODO
00O 0O, Kalman-Yakubovich O OO 0O 0O,

ATP + PAye = —Quac (5.33)
B,”pP =0,

00000000000 P=PT>0,Q.=QL>000000.
(5.31) 00000,

hm Batge + ho(t,yn(t)) =0 (5.34)

0000000000000 (limLee(t)=0000.000,0000000000
00000 w, () 00000 O0O0.000000000O0,

lim AK(t)z(t) =0 (5.35)

t—o0

lim B (up(t) — S23(t)) + ha(t yn(t)) =0 (5-36)

t—o0

O0000D0 w (t)DODODODO. (5.36) DOO0DO00,0000000000,wg0000
gboooobooboon.
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1. 0000 (5.12) 0000, he(t,ya(t)) € R=** 000,

ha(tyn(t)) = (Ba — B)ha(t,yn(?)) (5.37)

A~

00 ho(t,ya(t)) e R 0O0000. 0000, A(t,ya(t)) € R 000,

A~

h(t,ya (1)) = Byh(t,yn (1)) (5.38)

00 h(t,ye(t)) e R™'0000000000000.000000,000000
0000000000000000000000.

A~

2. 0000 A(t,yn(t)) = [Pt yn(t)), -, hm(t, ()] 000000 ODOODO.

ity yn(t))] < poi + puillyn(t)]| (5-39)

00000 poypy; >000000.000000000,0000000 (po 00
0 p)000,000000000.

0000000000000000 (5.7)0 (5.14) 00000000000, (5.38)
00000000000000000000000. (5.8)00,

A~

h(t,yn(t)) = —(f(a,9) + 9(q)) (5.40)

000000000.00,000000 f(g,)+9(q) 0000000 (5.39) 0000
oooooo.

5.4.2 Lyapunov U0 00O0OOOOOOOO

(5.32) 00000O,00 (6.34) 00000 K()OODO wg(y) D0 O0ODOOOODOOO,
00000000 Lyapunov DO OO 0O0O0O°.

V() = Awa(t)TPAwa(t)
+trace{ AK ()T AK ()"}
£ 30 AH()(Tn); AH()T (5.41)

P
=1

00000000 (AK(#) 0 AH() 00000000000 000 Aé(t) 000000 Lyapunov
ooooooo.
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oo,

AK(t) = K(t)- K* (5.42)
AH(t) = Hi(t)— H; (5.43)

oooooo.
(5.41) 0000000, (542)0 (543) 00

V(t) = Az (t)TPAz,(t) + Az, (t)T PAL, ()

+2 {trace{AK( T AK ()T} + Z AH;(t)(Ty); 1AHi(t)T} (5.44)
Ooo00.00,((4)000000 100

Aiy ()T PAz,(t) + Aza(t)TPAz,(t)
= (AacAzq + Batlae + ha(t,yn(t)))T PAz(t)
+ Az, ()T P(Age Az, + Botige + ha(t,yn(t)))

= —Az,(t)QucAza(t) + 2 {uae(t)T BT PAza(t) + ha(t,yn(t))" PAzy(t) }
= —Az,(t)QueAza(t) +2 {uae(t) Calraa(t) + ha(t,yn(t)T (Ba — B)TPAz,(t)}
= —Az,(t)QucAz ()
+2 {tae(t) ey () + ha(t, yn(t) ey (t) — halt,yn(t)" BT PAz,(t)}
= —Az,(t)QucAzy(t)

+2 {(AK (£)2(t) + ur(t) — Sas(t)) ey (t)
tha(t,yn() ey(t) — halt,yn(t)) BT PAz,(t)}
= —Azy(t)QucAza(t)
+2 {trace{ey ()2(t) AK ()"} + (un(t) — Sas(t)) ey (t)
+ha(t,un(t)) ey (t) — ha(t,yn(t))" BT PAz, ()} (5.45)

goo,0 200000 300

trace{ AK(t)[ ' AK (t)T} = trace{K(t)[z AK(t)T} (5.46)
AH;(t)(Tg); ' AH()T = Hi(t)(Tw)i " AHi(t)" (5.47)
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goobood,

St
Q
—~
L
I
w —~
—_— Lo
L —
~— ~—
I Il

ooooo,

gooooogn

ha(tyn())" BT P Az, (t)]
|(—S28:(t) + Ras(t,n(t)) ey (t)]

+ | Sasi(t)] pli][

p2;
ey;(t)

[ po; +

1
[lya ()] ]

goaoo

(ur(t) — Sas(t))" ey(t) + halt,yn(t)) ey(t) —

5. Ubobbooouoooboob

(5.48)
_— p2 (5.49)
< [Sa3s] 4 po; + pusllyn(t)l|  (5.50)
= ) THT (5.51)

ha(t,yn(t))" BT P Az, (t)
=D ey;(t)zn(t)" (Hi(t) — H)"

=1

= L enOTAROT (652
ooonO
H = ley(t)]ea(t) T (5.53)
Ooooooogo.
oooono
V(K) < 0 (Awy(t) #0) (5.54)

O000,00000 Lyapunov 0000000, lim,ee(t)=0000000.

000, (548) 0 —e,()?000000,00000000000000000000
00000000000000.000,000000000000000000000



54. D0OODOOOOO

uo.

Ki(t) + Kp(t)
—ey(t)z(t) Tk, — o () K1 (t)
—ey()2(t) Tk
Hy;(t) + Hps(t)
le; (E)|2n(t)T (Car, )i — s (¢) His(2)
ley; (8)|2n(t)T (Trp)i > 0
Ik, = I'g, >0
Tk, = Ik, >0
(FHI) = (FHI)T >0
(FHP)z = (FHP)T >0
_ ey(t)Tey(t)
A N o)
eyi(t)2
7ult) = omo 1+ ey,(t)?

oxo , OHoi >0

000 Lyapunov DO O OO0 OOOOOO.

V(t)

oo,

goooobo.

= Awa(t)TPAwa(t)

+trace{ AK(t)[ . AK;(t)"}

30 AH(8)(Ca, ) AH (1)

K(0) — K* = (Ki(t) + Kplt)) — K*
Hi(t) — H} = (Hp(t) + Hp,(t)) — H;

Ki(t) — K* < AK(%)
Hyi(t) — HY < AH(t)

55

(5.61)
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5. Ubobbooouoooboob

(5.61) 0O OOOOO,

V(t) = Az ()T PAz,(t) + Az, (t)T PAz,(t )

+2 {trace{AKI( T AK(t) }+ZAHI )(Ta,); ' AHL(t) } (5.66)

ooo. oo,

Az ()T PAz,(t) 4+ Azg(t)T PALL (L)

(AacAz + Batiae + ha(t,yn(t)))" PAzy(t)
+ Az, (t) T P(AgeAzy + Botiae + ha(t,yn(t)))

—Az (t)QacAw ) + 2 {uae(t)" BT PAz,(t) + ha(t, yn(t))T PAz,(t)}
— Az, (1) QueAza(t) + 2 {uae(t) Calrza(t) + ha(t,yn(t))T (Ba — B)TPAz,(t)}
—Az,y(t)QacAz ( )

+2 {ac(t) ey () + halt,yn(£) ey (£) = ha(t,ya(t))" BT PAa(t)}

—Az,(t)QucAza(t)

+2 {(AK (£)2(t) + ur(t) — Sas(t)) ey (t)
+ha(t,yn(t)) ey (t) — ha(t, yn(t)" BT PAza(t) |
—Azy(t)QacAza(t)
+2 {trace{e, (t)2(t)TAK ()"} + (un(t) — Sas(t)) e, (1)
ha(t,yn(t)) ey (t) — halt, yn ()T BT PAz,(t)}

(¢
(

trace{AKI( T 1AKI( )} = trace{KI( I _1AKI( )T}
AHp;()(Tr,); " AHp(4)" = Hry(t)(T,);7 AHp(t)"

goobood,

trace{ K7(¢)Tgt AK(t) }+ZH1 )(Tr,);  AHL(t)"
= trace{( ey(t)2(t) Tk, —O'K( VE1(t))Tx, AK;(t)"}
+Z{ le; ()21 (t)" (Tary)i — o Hri(8)) (o) AHz(8)" )
~ tracef— e, (1)2() T AK ()T — o (8)Kr(t)T g AK ()T}

+Z{|ey (t)|zn(t)" AHp(t)" — om Hyi(t) (T, )y P AHL ()}

(5.67)
(5.68)
(5.69)
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< trace{—e,(t)z(t)TAK(t)T — UK(t)KI(t)FI_{iAKI(t)T}

+Z{|e )zn(t)T AH; ()" — o Hyi(8)(Ta, )i AHL(8)}

Ood
|iLa(t7yh(t))TBTPAwa(t)|
< Al (Slows+ pallit0)) [ 8] 122200
(unlt) — Sa )) )+ halt un(0)) ey 1)
= —Ze TAH( )
oooooo,

V(t) < —Az,(t)QucAza(t)
—2 trace{oxk (t)Kr(t )FKIAKI( )"}

_2Z{UH1H11 (FHI) 1AHI¢() }

26 4 DpaalP) (im + pusllgn(t) ) )) 18] 1220

=1

57

(5.70)

(5.71)

(5.72)

(5.73)

gbo. ddd,lgooooobbobob,ooboobbbobobbbooooooogao

uo.

5.5 SACOUO0O0ODOOOO

O00,000000 (SAC)000000ooooooooooooooooooog,

gbboooooobbobooogn.

5.5.1 0OUOO

OO0 SACODOO0ObObO0oOooOOobDobooboooooboobooobo. bo,boboo
goobbboobogobobooobobobbobobbboboooboboobobooonn.



58

5. Ubobbooouoooboob

Lgoooooobbodoobbboooobbbooobobbbooaa.

z(t) = Az(t) + Bu(t) + h(t, z(¢)) (5.74)

0000000000000000 Az(t)+Bu(t)0 000000 AL x(t) 00
ooooooo.

Lgoboooobbbuooooboboooo.

Loggboooboboboobuoodobooobbobbo.bboo,boobooobooo

000000000000000.000000000000,0000 A(t,ya(t) €
R0 00,

N

Bt yn(t)) = Boh(t,yn(t)) (5.75)

00 A(t,ya(t)) e R™' 0000000000,

.0000 (0OO00)0D0DDOO0oO00OO0O000ODO0ODOOooOoOooODOO. (5.74)

0000,0000 A(Le(t) 0000 A(ty(t)) D0 000, ya(t) = Ex(t) D00
0000000,hA(#ys(t)00000000.

w.p(t) = prp(t) + Bpup(t) + h(t, yh(t)) (5'76)
yp(t) = prp(t)a Up, Yp € RmX1am =n
yr(t) = Epz,(t), yn € R™* ny <n,=2n

Ch(tyn(t)=00 (5.76) 0000000000000 SACOOO0O0O0D0O0O0O0O.

0000 (5.76) 0000 ASPROODOOOO,00000000O00O0OOOO
OO0O0O.ASPRODODODOOCOOODOODOD,DDOODO0O0LOO0 DOoOOOOO
OO00O0DO0O0oO ASpPROODOODOOODOO.

.0ooooooo0ooUdoD (PFC) 00000, 0D00D0O0OO0O0DODOOOO,

ho(t,yn(t)) € RP=* 00O,

ha(t, yn(t) = (Ba — B)ha(t, ya(t))

00 ho(t,ys(t)) € ' 00000. 000000,0000000000000
000000000000000.
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A~ A~

7. 0000 Altyn(t) = [ha(tyn(t), -+ hm(tya(t))T 00000000000,

[Bi(t, yn(8))] < poi + pr;llyn(t)]| (5.77)

00000 poppy; >000000.000000000,0000000 (po 00
0 p)000,000000000.

.o ogogg.
|Rii(q)] < |
goood,0b0goooooobooooooogd.

0000000 0000 0000000ooo0 (Doooo)oooooooo.

5.,5.2 0000000000 (DO0OOOO0O0OO0)O0O

0000 0000000
{Jo + R(9)}d+ 5R(9)d + S(9,9)4+ Bog + 9(g) = Do (5.78)

0000.000,v=[ver,,2ef 000000000000000, Jo,Bo, D000
gooooooooo,oogooooooon.
Jo = diag(Ji;), By = diag(b;;), D = diag(dy;)
Jii = k*Jiy b = (bo; + Ki* [ Rai) ki (5.79)
di; = k;K;/Rg; t=1,---,n

(6.78) DODOOODO 100000000, 0000000000O0 R(s)ODOODDOODO
oooooooobooo Jobooobo.o20,030,04000000000,00
Oo00,000000000. ¢g(¢)DODODODOODOOODO,qUOOODO (COOOD)
gooooo.

00,0000000000000 (5.76)00000,000000000000DOO
0000000000000 0000.00,00000000000 (5.78)0D00OO
goooo.

i+ Q(9)f(g,9) +Q(a)g(q) = Qq)u (5.80)
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{q,f(q,d),g(Q) € R™!
Q(q) € R™"

ooo,

Qq) = {Jo + R(q)}
u = Dv (5.81)
f(a,d) = 1R(q)q + S(a,4)d + Bog
O00,000000000,00000000 fOOOODDOO.ODOO,0000D0
dobodooooooboooooooooo, 00«00 ooooon
oog.
oggo Q(q)DD R(q)DDDDDDDDDDDDDDDDDD,DD,DDDDDD
dooooooooooooono, J; O rii:Rﬁ(q)DDDD o0ooogooooono
gddooo.booooooodooooooooooboooog,onooon
DDDDDDDDDDDDDDDDDDDDDDDDDDD.R(q)DDDDDDDDD,
0o 568 D0O0OODODODOOOO.O0OOO,000 Q(q)DDDD QLOOODODOOd
ogono.
doodoo,ooooooooon (5.78)DDDDDDDDD

,(t) = Apz,(t) + Byuy(t) + h(t,yn(t)) (5.82)
yp(t) = Opwp(t)a Up, Yp € RmX17m =n
yn(t) = Epz,(t), yn € R™*! ny <n, =2n

goooboo. og,

l . ’ . . ] (5.83)
—Q((3R(q) + S(q,4) + Bo)d + 9(q))

gboo.0o0b 56100000 b56400000000000000.
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000,005630000056600000000.00000000000000
00 (5.82) 0000000 D0OOO0.(5.75)0000000000000000000
DooO0. (5.83) 00,

A~

h(t,yn(t)) = —(f(a,9) + 9(q)) (5.84)

gooboooooo. bod,

up(t) = —h(t,un(t)) (5.85)
dooooooooboooooooboooooood.

00,000000 f(g,4)+9(¢) 000000000 56200000 5670000
000000. f(q,4) 000 ¢(9 00000, ¢ 00000000000O.00,0
00000000000 00ooooOo,000b00oooooo, (ryoooooo
googao.

O000,0056600000000,0000 00000000 (5.82) 0 ASPROOO
O0000000,0000000000000 (PFC = Parallel Feedforward Compensator)
gdooooooood.

5.5.3 UUugoogn

00,0000000000000000 (5.12)0000,00000000000
HEN

Tm(t) = Apzm(t) + Brum(t) (5.86)
ym(t) = meM(t)

oo00.00,SACO0000O000bOob0O0obOooooboboooo,0oo

Ny = M=T1n
qm = wm Q‘In7wm7um7ym E RmX1
Am E Rm)(m

goo.
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5.5.4 UUUOUOO0OOUOOODOOOOOOO

goooooooboboboboooobboboon

be(t) = Afwf(t)—l—Bfup(t) (587)

yr(t) = Cras(?)

000,00000000000000000000000000000000 B;0O0O
0 ¢,00000.

5.5.,5 UUO4ooUoogdg

oo
oooon
wp(t) = walt) = K(2)2(2) + un(t (5.88)
goo. og,
() = [Ka(0),Ku(t), Ku(t)] (5.89)
z(t) = [ey(t)Tawm(t)T7um(t)T]T (5'90)

00,000000000 ugp(t) = [ugi (), sugm(t))F O

Hi(t) = [poi» puil poiy p1; > 0
[ 1

0=
-ey1(t)

ey(t) = :
_eym(t)

ooooo,

luri(t)] < Hi(t)zn(t)
{—Hxﬂ%@)%HRWUHAHKQ%QFWQN>6

5.91
—{Hi(t)zn(t)}ey;(t) /e, [Hi(t)zn(t)ey;(t)] < € 41
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0000.00,e000000000.

wr(t) 00000 y(¢)000000,000000000000000000.000
000000000000000000000000 ¢¢)0000000000,000
0000000000000 0000000000000000000000000
0000000000,000000000.

gobooo

gbobobooooobboooooob.

K(t) = Ki(t)+Kp(t) (5.92)
Ki(t) = —e,(t)2(t) Tk, — ok (t)K(t) (5.93)
Kp(t) = —e,(t)z(t) Tk, (5.94)
H;(t) = Hi(t)+ Hp(t) (5.95)
Hy(t) = ley;(t)|zn(t)" (Tr,)i — omi(t) Hrs(t) (5.96)
Hpi(t) = ey (t)|za(t)"(Tp)i = 0 (5.97)
Ik, = I'g, >0
Tk, = Ik, >0
(FHI)l = (]‘_‘HI)?>O
(FHP)z = (]‘_‘HP)?>O
o ey(t)Tey(t)
R TR AT
eyi(t)2
) = om e, @
oko , OHoi >0

5.6 UUUOUOODOOUODOOO

gbbogoodoobogobooboooboubbbbooboobooboon
gbogdod,bbbdggooboobbobbboooobuooobbbooobn
goo.
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gbobo,dgddoobobbboodbooooboobboooboobobobobobDbn.
0000 (0000)0000000D00o00ooo, 00000 oooooooooo
gooboobogoooboo.

goodn

gbobobooooooooad.

5.6.1 0JU0OOOOO

O00,0000000000000000 A(t,ye(¢)) DOODODOODOODOO, (5.10)
gobobooboboobooooao

1
Gy = 51nQ (5.98)

ooooobobo,00000ob00obbob0oobOo,0boobooboboo oo
gogobbobobboobdoo. oo, oo boboboboob,bbboboon
goboobooobooan.

00,J,000 ((5.79Y0)00,J/,000000000000O0C0O0OOO.O0O,O
000 R(¢gpOOOODOOOODOODOO,000,00 56800 JoOOOOODOOODO.
000,0000 Q7'O000000000O0DOOOOOO.

gbobogao,bboooboobo.

g40000d,bboooobobooobbobbboooooboboaoa.

oo 5.1 I

Jooooodoogog

e Q,~000000,

Keij =0
Kuy; = 0

gb,dgdggbbobooo,oggboobooboboobbbooooobon
0.0000,0000 Q7'0000000000000O00O0O0UOOOOODODOO.
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5.6.2 UJUUOOOOOO

65

goobooogooob,boouggobobobob,oobobboboooon

gbodbooooboo,boggbbbood.
1. (5.93) 000 (5.96) 0000 e ODODODODOODODODODDOOOO.

2. 0000000.

(5.77) 000000000000000000000000 .
it ya ()] < po;

000000, (91)000000000000000 ug(t) = [ugi(t),
0

Hi(t) = po; 20
eyl(t)

eym(t)
ooooo,
luri(t)] < Hi(t)

ugi(t) = {_Hi(t) sgn{ey;(t)}, |[Hi(t)ey(t)] > €
) —Hi(t)%ey,(t)/e;  [Hi(t)ey, (1) < €

goobo.ob,e00bbooobon.
gb,dgdgoooboodboobbdoodbouooouoooooog.

oo 5.8 I

[kilt,y(8)] + [ha(t ya(1))] < po;

00 k(t,y) D ;000000000 DOOODOOOOOO.

(5.100)

. 7“Rm(t)]T

(5.101)

(5.102)
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00000000000, (5.89) 000000
K(t) = [diag[ke;(t)li;, diaglka;(t)li;, diag[kui(t)[iZ1, ] (5.103)

godd.
go,0bbo,ggbbobdobobobodbobobobobo,bbobbodgobuoobod
goboboboooobbo,ggobbboooobboboooon.

5.6.3 UUUUOOOOUOOODOOOOOO

goooobobo,boboubgobobobidboooooooo. go,0oobon
googgobobobb,gbbobboobouobuoooooboboboonbon.

goobogboboodo, bbb bb,ooooboboobbobooag.

goobgobooboboboooboboboobobbbobbo,bbboooooan
g,0uogdooooobo,gbogobbobboob,oobooobobbbobn
gb.od,0boggoooboob,bbooobobobboboboo,bobooboon
gb.gogbbodog,gobgooo,bogbobobboobboboo,bbobbbbon
gbooogoaooan.
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ooty

O0000,0400000 500000000000 MatlabODODODOOOODOO
bADSOOOOOODODODOO,00D00OOO0DO0ObDDODODbDObOOO.

6.1 SISO-SACUO0O0O0O0O0ODOO0OOOO
6.1.1 00U

gbhogogbgobobbbooon

goooguoggooobooogon ‘
gboguobuogbogogod e300
godeé2000d.0dbbooooan
0000000 6.1000.300 (3
000)00000000oo,o000
g 1obobobg3d0booood
googboobooboo. oo,
g2000000000404.

6.1.2 JUUUOOogooon
0613000000000

ooon
gobobbodobobobed4D0ODL. 0D00OO0OLOOODODOOOODODODOOODODO.

67
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6. UOOoooooooboboon

Input

Reference Xm Signals
4|
»| Mux
=

Setpoint Mux Output
Signals

Ku(t)um(t)

<
Ey(t) > - Mgzol']baﬁ;m Feedforward
Ke()Ey(t) Compensator

Robot Arm Control
Simulation Progam
Parameters _ using

Ke Kx Ku Single-Input Single-Output
Simple Adaptive Control

Sum2 Integrator

Matrix
Proportional
Gain -Hp(t)

O 6.2: SISO-SACOO0O00ODODODOOODODOOOODODOO

*

Sign rho(t).sgn[e(t)]

»

*

i)

rho(t).e(t) Gain Outport

Output
Signals

Sumz2 Integrator

0 6.3: SISO-SACOO0O0O00ODODOOOOOD (boooono)
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69

06400,0000 (0000)0000000O0OODOOOOOOD (DOoDOOO)
g,0booboogdo,ggbooboboobobooooobooooboob.oogan
gbbodogbboooooooboobobobbo,obbboobbooobbooo

goobbooboboooog.

0

-500

-1000

-15001

-2000

-2500

-30001

-3500

-4000

—-4500

-50001

WW‘V T T L R T T -]

Time (second)

() D00000,0000,00000

Time (second)

(b)) 0000000 K., K,, K,

8000

6000

4000

2000

-2000

-4000

-6000

o
[N
N
w
IS
o b
=
@
©
5

Time (second)

() DDD00D00O0O

5
Time (second)

(000000

O 6.4: SISO-SACODO0O0OOOO0ODOOOOO0OODOOOOO

000000 65000.0000000D00DO0O,DADSOODOODODODODOODOO
000 MatlabOOOODOO S-Function OO0 OO O00O0O0O0,000 Simulink 0000
OO000d0do0dooooooooooooooooooooon.
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Y oow

QO

00:00:00.0 00 00moo00.5 63 00:00:01.

(a) (b) (c)

N ¥ $

00:00:02.0 29 00:00:04.0 39 00:00:04. 7411

(d) (¢) (f)

of

o

g’

00:00:07 9325 00:00:08.1 74 00:00:08 3458

(8) (h) (i)

O 6.5: SISO-SACODO0O00OO0O0ODOOOOOOODOOOOO



6.2. MIMO-SACOUODOUOOOOOODOOODOOODO 71

6.2 MIMO-SACOOUO0DUOOODOODOO0DDODOOOO

OO0 MIMO-SACOOODODOOODOODOOOOOODODOODO.

6.2.1 00U

goooobboooogaobo
gboogbboooobooboobon
oboooOoobooboboooo e
gbob.d0bdguoooooooa
000 66000.500 (5000)
godboboodd,oobod 40
gboboob sdogoooooon
goobooodg.gob,bodd
O10000300000004d
goo.

00:00:00.0000

0é66:5000000000

Mux MIMOSAC
% 7 Controller
» Model -
'{:I_ dadsad =
Reference Ey(®) Robot Manipulat
i obot Manipulator
Setpoints Model P Auto-Scale
um > Graph
P Mux
'- > NonLinear Feedt d va
iati Z1 Compensator eediorwar
Derivative P Compensator

O 6.7 MIMO-SACOOODODOOODOODOODODOODODOO

Ooo0oooDOooboooo,C-MEXOOO S-FunctionO OOOODOOOOOO,O00
00000000000 ADDOO (Model.c, PFC.c, MIMOSAC.c, NLC.c).



72
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msacsim2.c

/*

*
*

00o0000000000000000000O0000000

O O

O Program : msacsim2.c O

o Desc. : MIMO-SAC Simulation Program 0
u] Creator : Budi Rachmanto 1996-11-14 0

O O

O gooo00o0oO0oo0o0o0oooooooooo O

O O

0o00000000000000000000000000

Plant :
-1 ]

Xp(t) = [-

MV
'
o

[V

[L000]
0] Xp(t) +[0100] Up(t)
[001 0]

)

= oo

1
[0001]
1

Yp 0] Xp(t)

PR
co® o o
orFo

= o®o

]
]

Criterion :
Am =

Bm Cm =1I'4
Gm = diagll/(s+1), 1/(s+1), 1/(s+1), 1/(s+1)]
Parameters :
Gammal = diag[10°8I'2, 10°3I'4]
GammaP = diag[10°6I'2, 10°2I'4]
*/
#include jstdio.h;
#include jmath.h;
#define PLANT MODEL 0
#define CRITERION 1
#define ADJUSTMENT 2

#define YES 1
#define NO 0
#define PI 3.141592654

#tdefine Sampling Time 0.01 /*0000pooog */

#define MAX'COUNT 4000 /¥ 0000000 */
#tdefine period 20. /*o0oooo */
#tdefine Np 4 /*ooooog */
#tdefine Nm 4 /*000oooo */
#tdefine R 4 /*oooo */
#define M 4 /*ooog */
#tdefine amplitude 1.0 /*ooooooo x/
#tdefine step 0.0 /*oooooo */
#define epsilon .0000001

#tdefine Sgm1l 0.01 /*0000opoo */
##define Sgm2 0.05

/* Macros */

#define Ksize (M+Nm+R)

#define notzero(x)

static double Um[R],Up[R],
Uu[R],Ux[Nm],Ue[M],

fabs(x);epsilon) ? x : 0.
( &
/*o0oog */

oot ot
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TIME = 0.0, /*oooo */

Gammal[Ksize] /* 000 GammalKsize][Ksize]*/
=-100.,100.,100.,100.,10.,10.,10.,10.,10.,10.,10.,10.,

GammaP[Ksize]
=-100.,100.,100.,100.,10.,10.,10.,10.,10.,10.,10.,10.,

Ki[R][Ksize], Kp[R][Ksize], /*0oooo */

K[R][Ksize],Z[Ksize],

Ap[Np][Np]=—1,0,0,0, 0,-1,0,0, 0,0,-1,0, 0,0,0,-1",

Xp[Np]=-.0, .0, .0, .0",

Xm[Nm]=-.0, .0, .0, .0",
Ey[M]=-.0,.0,.0,.0",Ya[M]=-.0,.0,.0,.0",Yp[M],Ym[M],
Ke[M][M] =-.0,.0,.0,.0", /0000000 */
Kx[M][Nm]=-.0,.0,.0,.0", /* (Tuning Parameters) */

Ku[M][R] =-.0,.0,.0,.0";
*
go0o0oooooooooooooog
= Criterion'Path Generator = [

O

O

O

0 0OO0O00oooooooooo o
0 0OO0O00oooooooooo o
O O

0 0Oo0O0oooooooooooo o
0O 00 period JOOOOOO O
0o000000000o00oo00o0o0n
*

double StepRectangle(double t,double u)

return( (fmod(t,period) ;= period/2) ? u+step : -utstep );
/*
go00oo0oooooooooooooooon

0 0OO0O00oO0oooooooooo o
J0o000000000000000000D0
*/

NextState(X,Xdot,mode)
int mode;
double *X, *Xdot;

int i,j

double Sigmal,EQuad;

switch(mode)—

case PLANT'MODEL :
for(i=0;i;Np;i++)-
for(j=0,Xdot[i]=0;jiNp;j+ +) Xdot[i]+=Ap[i][i]*X[j];

Xdot[i]+=Uplil;
Yplil=X[il;

break;
case CRITERION
for(i=0;i;Nm; 1-|--|-) Xdot[i] = -(Ym[i]=X[i]) + Uml]i];
break;
case ADJUSTMENT :
for(i=0,EQuad=0.;i;M;i++) EQuad += Ey[i]*Eyl[i];
Sigmal = Sgm1 * EQuad / (1.0 + EQuad) + Sgm2;
for(i=0;i;R;i++) for(j=0;j;Ksizesj++)
*(Xdot+Ksize*i+j) = -Ey[i]*Z[j]* Gammal[j] -Sigmal**(X+Ksize*i+j);

/*
goooo0oooooooon

0 0o0oooooooo O
goo0oo0oooooooon
*

RungeKutta(X,mode,row,col)
int mode,row,col;
double X[row][col];

double Xtmp[row][col],k0[row][col],k1[row][col],k2[row][col],k3[row][col];
int i,j;
NextState(X,k0,mode);
for(j=0;jirow;j++) for(i=0;ijcolsi++)
Xtmplj][i] = X[j][i] + 0.5*SamplingTime*kO0[j][i];
NextState(Xtmp,kl,mode);
for(j=0;jjrow;j++) for(i=0;ijcolsi++)
Xtmplj][i] = X[j][i] + 0.5*SamplingTime*k1[j][i];
NextState(Xtmp,k2,mode);
for(j=0;jjrow;j++) for(i=0;ijcolsi++)
Xtmplj][i] = X[j][i] + SamplingTime*k2[j][i];
NextState(Xtmp,k3,mode);
for(j=0;jirow;j++) for(i=0;ijcolsi++)
X6 += (90 +2.0" kI 20" K2 4L
* Sampling Time / 6.0
/*
gooooooooooo
0O 0o0oooooo o
EDDEEDDDDDDD

Adjust()
int i,j;
for(i=0 ;i ;M ;i++4) Z[i|=Byli];
for(i=M ; ijM+Nm;i++) Z[i]=Xm[i-M];

A . 0DDODOOODO



for(i=M+Nm;i;Ksize;i++) Z[i]=Um[i-(M+Nm)];
RungeKutta(Ki,ADJUSTMENT,R,Ksize);
for(i=0;i;R;i++) for(j=0;j;Ksize;j++)

Kpli][j]= -Ey[i]*Z[j]* GammaP [j];
for(i=0;i;R;i++) for(j=0;j;Ksize;j++) KIi][j] = Ki[i][i] + Kp[i][i];
for(j=0;j;Rs;j++)- /*0oooog */

for(i=0;i;M ;i++) Ke[jlli] = K[j]li];

for(i=03iNmt4) Kx[ili] = K[jJi+M];

For(i=0R. si+-+) Kuli]li] = K[Jli+M+Nm];

/*
goooooooooooooo
O sAcU0Uooooono O
goooooooooooooo
*
SimulateSAC()
int i,j;
for(i=0;i;R;i++) Um[i]=StepRectangle(TIME 4 period/R*i*.5,amplitude);
RungeKutta(Xm,CRITERION,Nm,1); /*Xm 0000 */
Adjust(); /¥*o0oooooo */

for(j=0;jiM;j++) Ey[il=Yp[il-Ym[j]; /* 00O =/
for(i=0;i;R;i++)-
for(j=0,Uel[i]=0;iM ;j++) Ue[i] += Keli][j]*Ey[j];
for(j=0,Ux[{]=03jNmsj++) Uxfil += Kx[il[j]*Xm[jl;
for(j=0,Uulfi]=0;j;R ;i++) Uuli] += Kul[i][j]*Um[j];
Upli] = Uuli] + Ux[i] + Ue[i]; /¥ 000000000 */

o

RungeKutta(Xp,PLANT MODEL,Np,1); /* Xp ODOOO */
TIME += SamplingTime;

/*
goooooooooo
0O 0Oooooo O
goooooooooo
*/
main(int argc,char *argv[])
int 1i,j;
FILE *fp = (argc;1) ? fopen(argv[l],”w”) : stdout;
printf(”Simple Adaptive Control - Simulation Program¥n”);
for(i=0;i;Np;i++)-
for(j=0;jiNp;j++) printf(”%8.4g ", Ap[i][j]);
printf("¥n");

while (TIME ;= SamplingTime*MAX 'COUNT)-
SimulateSAC();
fprintf(fp,”%8.41f * TIME);
for(i=0;i;M;i++) fprintf(fp,” %8.41f ”,Ypli]);

/* for(i=0;i;R;i++4) for(j=0;j;M;j++) fprintf(fp,” %8.41f ” , Kuli][j]);*/

fprintf(fp,”¥n”);
fclose(fp);

*/

msacsim3.c
/*

*
/%
0000000oooo0o00ooOooooooooooooog

O
Program : msacsim3.c (kappa) u]
Desc. : MIMO-SAC Simulation Program 0
Creator : Budi Rachmanto 1996-11-14 0

O
gooo00o0oO0oo0o0o0oooooooooo O

Oooooooo

O
0o00000000000000000000000000

Plant :
. -1

Xp(t) = [

0] [L000]

1 0] Xp(t) + [0100] Up(t)
1 [001 0]

1

1
-2
2 ]
0 ] [0001]
0 1

0

111



[0010]
[000 1]
Criterion :
Am '

Bm Cm =1I'4
Gm = diagll/(s+1), 1/(s+1), 1/(s+1), 1/(s+1)]
Parameters :
Gammal = diag[10°8I'2, 10°3I'4]
GammaP = diag[10°6I'2, 10°2I'4]
*
#include jstdio.h;
#include jmath.h;
#include jtime.h;
#define PLANT MODEL 0
#define CRITERION 1
#define ADJUST'Ke 2
#define ADJUST'Kx 3
#define ADJUST'Ku 4

#define YES 1

#define NO 0

/* #define PI 3.141592654 */

#tdefine Sampling Time 0.01 /*000o0oooo (= .o1) */
#define MAX'COUNT 104000 /*ooooooo */
#tdefine period 40. /*o0oooo */

#tdefine Np 4 /*ooooog */

#tdefine Nm 4 /*000oooo */
#tdefine R 4 /*oooo */

#define M 4 /*ooog */

#tdefine amplitude 1.0 /*ooooooo x/
#tdefine step 0.0 /*oooooo */

#define epsilon .0000001

#tdefine Sgm1l 0.01 /*0000opoo */
##define Sgm2 0.05

#define kappa 1

/* Macros */

#define Ksize (M+Nm+R)

#define notzero(x) (fabs(x);epsilon) ? x : 0.
#define cont(i,j,k) if(abs(i-j);=k) continue

static double Um[R],Up[R], /*o0oog */
Uu[R],Ux[Nm],Ue[M],
TIME = 0.0, /*oooo */

Gammal'Ke=10000,Gammal’Kx=10,Gammal'Ku=10,
GammaP 'Ke=10000,GammaP Kx=10,GammaP 'Ku=10,
Ap[Np][Np]=-38,-3, 0, 4,

-1,2,3,0,

0, 2, 4,-2,

5,0,-1,17,
Xp[Np],Xm[Nm],
Sigmal,EQuad,
Ey[M]=-.0,.0,.0,.0",Yp[M]=-0,0,0,0",Ym[M]=-0,0,0,0",

Ke[R][M] ,KeI[R][M] , /*0oooooo */
Kx[R][Nm],KxI[R][Nm], /* (Tuning Parameters) */
/- Ku[R][R] ,KuI[R][R];
go000oooooooooooooon
0 = Criterion'Path Generator = [

O O

0 0OO0O00oooooooooo o
0 0OO0O00oooooooooo o
O O

0 0Oo0O0oooooooooooo o
0O 00 period JOOOOOO O
0o000000000o00oo00o0o0n
*

double StepRectangle(double t,double u)
return( (fmod(t,period) ;= period/2) ? u+step : -utstep );

/*
go00oo0oooooooooooooooon
O gOo0o0oooooooooooon O
go00o0ooooooooooooooooD
*/
NextState(X,Xdot,mode)
int mode;
double *X, *Xdot;
int i,j;
switch(mode)—
case PLANT'MODEL :
for(i=0;i;Npsi++)-
for(j=0,Xdot[i]=0;j;Np;j++4) Xdot[i]+=Ap[i][i]*X[i];
Xdot[i]+=Uplil;
Ypli]=X[i];

break;
case CRITERION :
for(i=0;i;Nm;i++) Xdot[i] = -(Ym[i]=X[i]) + Umli];
break;
case ADJUST Ke : . . .
for(i=0;i;R;i++) for(j=0;j;M;j++)-
cont(i,j,kappa);

A . 0DOOO0ODOODO



/*

*(Xdot+M*i4j) = -Ey[i|*Ey[j]*Gammal'Ke -Sigmal**(X4+M*i+j);

break;
case ADJUST'Kx : . . .
for(i=0;i;R;i++) for(j=0;j;Nm;j++)-
cont(i,j,kappa);
*(Xdot+Nm*i+j) = -Ey[i]*Xm[j]*Gammal ' Kx -Sigmal** (X +Nm*i+j);

break;
case ADJUST Ku : . .
for(i=0;i;R;i++) for(j=0;jiR;i++)-
cont(i,j,kappa);
*(Xdot+R*i+j) = -Ey[i]*Um[j]* Gammal'Ku -Sigmal**(X+R*i+j);

goooo0oooooooon

O

goooooooo O

goooo0oooooooon

*

RungeKutta(X,mode,row,col)

int mode,row,col;
double X[row][col];

double Xtmp[row][col],k0[row][col],k1[row][col],k2[row][col],k3[row][col];
int i,j;
NextState(X,k0,mode);
for(j=0;jirow;j++) for(i=0;ijcolii++) —
if(mode;=ADJUST Ke) cont(i,j,kappa);
Xtmpl[j][i] = X[j][i] + 0.5*SamplingTime*kO0[j][i];

NextState(Xtmp,kl,mode);

for(j=0;jirow;j++) for(i=0;ijcolii++) —
if(mode;=ADJUST Ke) cont(i,j,kappa);
Xtmplj][i] = X[j][i] + 0.5*SamplingTime*k1[j][i];

NextState(Xtmp,k2,mode);

for(j=0;jirow;j++) for(i=0;ijcolii++) —
if(mode;=ADJUST Ke) cont(i,j,kappa);
Xtmplj][i] = X[j][i] + SamplingTime*k2[j][i];

NextState(Xtmp,k3,mode);
for(j=0;jirow;j++) for(i=0;ijcolii++) —
if(mode;=ADJUST Ke) cont(i,j,kappa);
X 4= (k0G4 2.0°k1[{][H]+ 2.0 k2[1] +k[il[i])
* Sampling Time / 6.0;

gooooooooooo
0O 0o0oooooo o
gooooooooooo
*/
Adjust()

int i,j;

for(i=0,EQuad=0.;i;M;i++) EQuad += Ey[i|*Ey[i];
Sigmal = Sgm1 * EQuad / (1.0 + EQuad) + Sgm2;
RungeKutta(Kel,ADJUST Ke,R,M);
RungeKutta(KxI,ADJUST Kx,R,Nm);
RungeKutta(Kul,ADJUST Ku,R,R);
for(i=0;i;R;i++)-
for(j=0;iiMsj++) —
cont(i,j,kappa);
Keli][j] = Kel[i][j] - Ey[i]*Ey[j]* GammaP 'Ke;
for(j=0;j;Nm;j++)-
cont(i,j,kappa);
Kx[i][j] = KxI[i][j] - Ey[i]*Xm][j]*GammaP 'Kx;
for(j=0;jiRsj++) -
cont(i,j,kappa);
Ku[i][j] = Kulli][j] - Ey[i]*Um[j]* GammaP 'Ku;

/*
goooooooooooooo
O sAcU0Uooooono O
goooooooooooooo
*
SimulateSAC()
int i,j;
for(i=0;i;R;i++) Um[i]=StepRectangle(TIME 4 period/R*i*.5,amplitude);
RungeKutta(Xm,CRITERION,Nm,1); /*Xm 0000 */
Adjust(); /¥*o0oooooo */

for(j=0;jiM;j++) Ey[il=Yp[il-Ym[j]; /* 00O =/
for(i=0;i;R;i++)-
for(j=0,Ue[i]=03j;M ;j++) Ueli] += Keli][j]*Ey[i];
for(j=0,Ux[i]=0;j;Nm;j++) Ux[i] += Kx[i][j]*Xm[j];
for(j=0,Uulfi]=0;j;R ;i++) Uuli] += Kul[i][j]*Um[j];



*/

Upli] = Uuli] + Ux[i] + Ue[i]; /¥ 000000000 */

RungeKutta(Xp,PLANT MODEL,Np,1); /* Xp ODOOO */
TIME += SamplingTime;

/*
gooooooooaono
0 0Oooooo O
gooooooooaono
*

main(int argc,char *argv[])

int 1i,j,start,end;
FILE *fp = (argc;1) ? fopen(argv[l],”w”) : stdout;
printf(”Simple Adaptive Control - Simulation Program¥n”);
for(i=0;i;Np;i++)-

for(j=0;jiNp;j++) printf(”%8.4g ", Ap[i][j]);

printf("¥n");

while (TIME ; period)- /* 00000000000 */
SimulateSAC();
if(TIME ;= period) break;
fprintf(fp,”%8.41f » TIME);
/* for(i=0;i;M;i+ +) fprintf(fp,” %8.41f »,Ypl[i]); */
for(i=0;i;M;i++) fprintf(fp,” %8.41f ”,Ey[i]);
/* for(i=0;i;R;i++) for(j=0;j;M;j++) fprintf(fp,” %8.41f ” Keli][j]);*/
fprintf(fp,”¥n”);

start=time(NULL);

while (TIME ; SamplingTime*MAX 'COUNT) SimulateSAC();
end=time(NULL);

printf("kappa=%d start=%d end=%d time=%d¥n” kappa,start,end,end-start);
fclose(fp);

Model.c

Model.c (C-MEX)
Reference Model for MIMOSAC (MIMO Simple Adaptive Control)

Syntax: [sys, x0] = Model(t,x,u,flag,A,B)

y= x

*
*
*
*
*
: dot'x = -Ax 4+ Bu
*
:/Budi Rachmanto JAIST 19970128
*

* The following #define is used to specify the name of this S-Function.
*

#define S'"FUNCTION'NAME Model
/*

* need to include simstruc.h for the definition of the SimStruct and
: its associated macro definitions.
#include "simstruc.h”

*

* Defines for easy access of the A, B matrices which are passed in
*/
#define ARG'A ssGetArg(S,0)
#define ARG'B ssGetArg(S,1)

*

* mdlInitializeSizes - initialize the sizes array
*

* The sizes array is used by SIMULINK to determine the S-function block’s
* characteristics (number of inputs, outputs, states, etc.).

*/
static void mdlInitializeSizes(S)

SimStruct *S;

ssSetNumContStates( S,DYNAMICALLY 'SIZED);/* number of continuous states */
ssSetNumDiscStates( S, 0); /* number of discrete states */

ssSetNumlInputs( S,DYNAMICALLY'SIZED);/* number of inputs */
ssSetNumOutputs( S,DYNAMICALLY 'SIZED);/* number of outputs */
ssSetDirectFeedThrough(S, 0); /* direct feedthrough flag */
ssSetNumSampleTimes( S, 1); /* number of sample times */

ssSetNumlInputArgs( S, 2); /* number of input arguments */

ssSetNumRWork( S, 0); /* number of real work vector elements */

A.
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ssSetNumIWork( S, 0); /* number of integer work vector elements */
ssSetNumP Work( S, 0); /* number of pointer work vector elements */
*

* mdlInitializeSampleTimes - initialize the sample times array
*

* This function is used to specify the sample time(s) for your S-function.
* If your S-function is continuous, you must specify a sample time of 0.0.
* Sample times must be registered in ascending order.
*/
static void mdlInitializeSampleTimes(S)

SimStruct *S;

*

* This a purely continuous block, so I set the sample time

* to 0.0.

*

ssSetSampleTimeEvent(S, 0, 0.0);
ssSetOffset TimeEvent(S, 0, 0.0);

~
*

mdlInitialize Conditions - initialize the states

In this function, you should initialize the continuous and discrete
states for your S-function block. The initial states are placed

in the x0 variable. You can also perform any other initialization
activities that your S-function may require.

X K K K K KX

static void mdlInitializeConditions(x0, S)
double *x0;
SimStruct *S;

/*
* mdlOutputs - compute the outputs
*
* In this function, you compute the outputs of your S-function
* block. The outputs are placed in the y variable.
*/
static void mdlOutputs(y, x, u, S, tid)
double *y, *x, *u;
SimStruct *S;
int tid;
int i;
for(i=0; ijss GetNumlInputs(S); i++4) y[i]=x[i];

*
* mdlUpdate - perform action at major integration time step
*

* This function is called once for every major integration time step.
* Discrete states are typically updated here, but this function is useful
* for performing any tasks that should only take place once per integration

* step.
*

static void mdlUpdate(x, u, S, tid)
double *x, *u;
SimStruct *S;
int tid;

/*
* mdlDerivatives - compute the derivatives
*
* In this function, you compute the S-function block’s derivatives.
* The derivatives are placed in the dx variable.
*/
static void mdlDerivatives(dx, x, u, S, tid)
double *dx, *x, *u;
SimStruct *S;
int tid;
double a, b;
int i;
a = mxGetPr(ARG'A)[0];
b = mxGetPr(ARG'B)[0];
for(i=0; ijss GetNumlInputs(S); i++4) dx[i]= -a*x[i] + b*u[i];

*

~

mdlTerminate - called when the simulation is terminated.

at the termination of a simulation. For example, if memory was allocated
in mdlInitialize Conditions, this is the place to free it.

*/

static void mdlTerminate(S)
SimStruct *S;

*
*
* In this function, you should perform any actions that are necessary
*
*

#ifdef MATLAB'MEX'FILE  /* Is this file being compiled as a MEX-file? */

#include ”simulink.c” /* MEX-file interface mechanism */

F#else

#include "cg'sfun.h” /* Code generation registration function */
#endif

/*

vil



Vi1l

*/

PFC.c

/*

* PFC.c (C-MEX)
* Parallel Feedforward Compensator for MIMOSAC
*

* Syntax: [sys, x0] = PFC(t,x,u,flag,A,B)
*

* dot'x = -Ax + Bu

* y= x

*

:/Budi Rachmanto JAIST 19970128

*
* The following #define is used to specify the name of this S-Function.
*

#define S'"FUNCTION'NAME PFC
/*
* need to include simstruc.h for the definition of the SimStruct and

* its associated macro definitions.
*

#include "simstruc.h”
*
* Defines for easy access of the A, B matrices which are passed in
*/
#define ARG'A ssGetArg(S,0)
#define ARG'B ssGetArg(S,1)
*

* mdlInitializeSizes - initialize the sizes array
*

* The sizes array is used by SIMULINK to determine the S-function block’s

* characteristics (number of inputs, outputs, states, etc.).

*/

static void mdlInitializeSizes(S)
SimStruct *S;
ssSetNumContStates( S,DYNAMICALLY 'SIZED);/* number of continuous states */
ssSetNumDiscStates( S, 0); /* number of discrete states */

ssSetNumlInputs( S,DYNAMICALLY'SIZED);/* number of inputs */
ssSetNumOutputs( S,DYNAMICALLY 'SIZED);/* number of outputs */
ssSetDirectFeedThrough(S, 0); /* direct feedthrough flag */
ssSetNumSampleTimes( S, 1); /* number of sample times */
ssSetNumlInputArgs( S, 2); /* number of input arguments */
ssSetNumRWork( S, 0); /* number of real work vector elements */
ssSetNumIWork( S, 0); /* number of integer work vector elements */
ssSetNumP Work( S, 0); /* number of pointer work vector elements */

*

* mdlInitializeSampleTimes - initialize the sample times array
*

* This function is used to specify the sample time(s) for your S-function.
* If your S-function is continuous, you must specify a sample time of 0.0.
* Sample times must be registered in ascending order.
*/
static void mdlInitializeSampleTimes(S)

SimStruct *S;

*

* This a purely continuous block, so I set the sample time
* to 0.0.
*/

ssSetSampleTimeEvent(S, 0, 0.0);
ssSetOffset TimeEvent(S, 0, 0.0);

~
*

mdlInitialize Conditions - initialize the states

In this function, you should initialize the continuous and discrete
states for your S-function block. The initial states are placed

in the x0 variable. You can also perform any other initialization
activities that your S-function may require.

X K K K K K KX

static void mdlInitializeConditions(x0, S)
double *x0;
SimStruct *S;

*

* mdlOutputs - compute the outputs
*

* In this function, you compute the outputs of your S-function
* block. The outputs are placed in the y variable.
*

static void mdlOutputs(y, x, u, S, tid)

A . OD0OOO0ODOOO



*/

double *y, *x, *u;
SimStruct *S;
int tid;

int i;
for(i=0; ijss GetNumlInputs(S); i++4) y[i]=x[i];

*
*

*
*
*
*

mdlUpdate - perform action at major integration time step

This function is called once for every major integration time step.
Discrete states are typically updated here, but this function is useful

for performing any tasks that should only take place once per integration
step.

*/

static void mdlUpdate(x, u, S, tid)

*
*

*
*

double *x, *u;
SimStruct *S;
int tid;

mdlDerivatives - compute the derivatives
*

In this function, you compute the S-function block’s derivatives.
The derivatives are placed in the dx variable.

*/

static void mdlDerivatives(dx, x, u, S, tid)

double *dx, *x, *u;
SimStruct *S;
int tid;

double a, b;
int i;

a
b

= mxGetPr(ARGA)[0];
= mxGetPr(ARG'B)[0];

for(i=0; ijss GetNumlInputs(S); i++4) dx[i]= -a*x[i] + b*u[i];

*

~

*
*
*
*
*
*

/

mdlTerminate - called when the simulation is terminated.

In this function, you should perform any actions that are necessary
at the termination of a simulation. For example, if memory was allocated
in mdlInitialize Conditions, this is the place to free it.

static void mdlTerminate(S)

SimStruct *S;

#ifdef MATLAB'MEX'FILE  /* Is this file being compiled as a MEX-file? */

#include ”simulink.c” /* MEX-file interface mechanism */

F#else

#include "cg'sfun.h” /* Code generation registration function */
#endif

/*

MIMOSAC.c

/*

XK K KK K X KX

MIMOSAC.c (C-MEX)
Multi Input Multi Output SAC

Syntax: [sys, x0] = MIMOSAC(t,x,u,flag,SigmaK0,GammaKI,GammaKP,NOut)

Budi Rachmanto JAIST 19970128

#define S'"FUNCTION'NAME MIMOSAC
#define SigmaKO0 ssGetArg(S,0)

#define GammaKI ssGetArg(S,1)

#define GammaKP ssGetArg(s,2)
#define NOut ssGetArg(5,3)

#include jmath.h;

#include "simstruc.h”

static void mdlInitializeSizes(S)
SimStruct *S;
int m=mxGetPr(NOut)[0];
ssSetNumContStates( S, DYNAMICALLY 'SIZED);

/* number of continuous states (KI) */

ssSetNumDiscStates( S, 0); /* number of discrete states */
ssSetNumlInputs( S, DYNAMICALLY'SIZED);



/* number of inputs (Ey,Xm,Um) */

ssSetNumOutputs( S, m); /* number of outputs */
ssSetDirectFeedThrough(S, 1); /* direct feedthrough flag (KP) */
ssSetNumSampleTimes( S, 1); /* number of sample times */
ssSetNumlInputArgs( S, 4); /* number of input arguments */
ssSetNumRWork( S, 0); /* number of real work vector elements */
ssSetNumIWork( S, 0); /* number of integer work vector elements */
ssSetNumP Work( S, 0); /* number of pointer work vector elements */

static void mdlInitializeSampleTimes(S)
SimStruct *S;

ssSetSampleTimeEvent(S, 0, 0.0);
ssSetOffset TimeEvent(S, 0, 0.0);

static void mdlInitializeConditions(x0,S)
double *x0;
SimStruct *S;

static void mdlOutputs(U’l, KI, z, S, tid)
double *U'l, *KI, *z; /* z=[Ey,Xm,Um] T */
SimStruct *S;
int tid;
int i,j;
int m=ssGetNumOutputs(S);
int n=ssGetNumlInputs(5);
double *GammaP;
GammaP = mxGetPr(GammaKP);
05i;myit+)-
U'li] = 0.
for(j=0;jim;j++) U'l[i] += (*(KI+i*n+j) - z[i]*z[j]* GammaP[0])*z[j];
for(j=m;jin-m;j++)U'l[i] += (*(KI+i*n+j) - z[i]*s[j]* GammaP[1])*z[j];
for(j=n-m;jin;j++4)U'li] += (*(KI+i*n+j) - z[i]*z[j]* GammaP[2])*z[j];

This function is called once for every major integration time step.
Discrete states are typically updated here, but this function is useful

for performing any tasks that should only take place once per integration
* step.

*/

static void mdlUpdate(x, u, S, tid)

double *x, *u;

SimStruct *S;

int tid;

*
*
*
*

static void mdlDerivatives(dotKI, KI, z, S, tid)
double *dotKI, *KI, *z; /* z=[Ey,Xm,Um]|"T */
SimStruct *S;
int tid;
int i,j;
int m=ssGetNumOutputs(S);
int n=ssGetNumlInputs(5);
double SigmaK, EyQuad=0., *Gammal;
Gammal = mxGetPr(GammaKI);
for(i=0; ijm; i++4) EyQuad += z[i]*a[i];
*

SigmaK = mxGetPr(SigmaKo0)[0]*EyQuad/(1+EyQuad) + mxGetPr(SigmaKo0)[0];
*/
SigmaK = mxGetPr(SigmaKo0)[0]*EyQuad/(1+EyQuad);
*

for(i=0; ijm; i+4) for(j=0; jin; j++)
*(dotKI+4i*n+j) = -z[i]*s[j]*Gammal[j] - SigmaK**(KI+i*n+j);
*/
for(i=0; ijm; i++4)-
for(j=0; jim; j++)
*(dotKI+4i*n+j) = -z[i]*z[j]*Gammal[0] - SigmaK**(KI+i*n+j);
for(j=m; jin-m; j++
*(dotKI+4i*n+j) = -z[i]*a[j]*Gammal[l] - SigmaK**(KI+i*n+j);
for(j=n-mj jin; j++)
*(dotKI+4i*n+j) = -z[i]*s[j]*Gammal[2] - SigmaK**(KI+i*n+j);

static void mdlTerminate(S)
SimStruct *S;

#ifdef MATLAB'MEX'FILE  /* Is this file being compiled as a MEX-file? */

#include ”simulink.c” /* MEX-file interface mechanism */

F#else

#include "cg'sfun.h” /* Code generation registration function */
#endif

/*
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NLC.c

/*

* NLC.c (C-MEX)
* NonLinear Compensator for MIMOSAC
*

* Syntax: [sys, x0] = NLC(t,x,u,flag,SigmaH,Epsilon,GammaHI,GammaHP,NOut)
*
: Budi Rachmanto JAIST 19970128

#define S'"FUNCTION'NAME NLC
#define Sigma0 ssGetArg(S,0)
#define Epsilon ssGetArg(S,1)
#define GammaHI ssGetArg(5,2)
#define GammaHP ssGetArg(S,3)
#define NOut ssGetArg(S,4)
#define sgn(x) (double)((x;0.)-(x;0.))
#include jmath.h;
#include "simstruc.h”
static void mdlInitializeSizes(S)
SimStruct *S;
int m=mxGetPr(NOut)[0];
ssSetNumContStates( S, 2*m); /* number of continuous states (HI0,HI1) */

ssSetNumDiscStates( S, 0); /* number of discrete states */
S, 3*m); /* number of inputs (Ey,Ya,dot Ya) */

ssSetNumlInputs(

ssSetNumOutputs( S, m); /* number of outputs */
ssSetDirectFeedThrough(S, 1); /* direct feedthrough flag (HP) */
ssSetNumSampleTimes( S, 1); /* number of sample times */

ssSetNumlInputArgs( S, 5); /* number of input arguments */
ssSetNumRWork( S, 0); /* number of real work vector elements */
ssSetNumIWork( S, 0); /* number of integer work vector elements */
ssSetNumP Work( S, 0); /* number of pointer work vector elements */

static void mdlInitializeSampleTimes(S)
SimStruct *S;

ssSetSampleTimeEvent(S, 0, 0.0);
ssSetOffset TimeEvent(S, 0, 0.0);

static void mdlInitializeConditions(x0, S)
double *x0;
SimStruct *S;
static void mdlOutputs(U'R, HI, u, S, tid)
double *U'R, *HI, *u; /* u=(Ey,Ya,dot Ya) */
SimStruct *S;
int tid;
int i,j, m=ssGetNumOutputs(5);
double HO,H1,Hz,Hze,epsilon,NormYh,*GammaP;
epsilon = mxGetPr(Epsilon)[0];
GammaP = mxGetPr(GammaHP);
for(i=0; ijm; i++4)-
NormYh = sqrt(u[m+i]*u[m+i] + u[m+m+i]*u[m+m+i]);

Ho = HI[{] + sqrt(u[i]*ufi]) *GammaP[0];

H1 = HI[i+m] + sqrt(ufi]*u[i])*NormYh* GammaP[1];
Hz = HO + H1*NormYh;

Hze fabs(Hz*uli]);

if(Hze;=epsilon)-
U'R[i] = -Hz*Hz*u[i]/epsilon;

" else —
. U'R[i] = -Hz*sgn(u[i]);

This function is called once for every major integration time step.
Discrete states are typically updated here, but this function is useful

for performing any tasks that should only take place once per integration
* step.

*/

static void mdlUpdate(x, u, S, tid)

double *x, *u;

SimStruct *S;

int tid;

*
*
*
*

static void mdlDerivatives(dotHI, HI, u, S, tid)

double *dotHI, *HI, *u; /* u=(Ey,Ya,dot Ya) */
SimStruct *S;
int tid;

int i, m=ssGetNumOQutputs(S);

double SigmaH, NormYh, *Gammal;

for(i=0; ijm; i++4)-
SigmaH = mxGetPr(Sigma0)[0]*u[i]*uli]/ (14 u[i]*uli]);
NormYh = sqrt(u[m+i]*u[m+i] + u[m+m+i]*u[m+m+i]);



xii

*/

Gammal = mxGetPr(GammaHI);
dotHI[i] fabs(uli]) *Gammal[0] - SigmaH*HI[i];
dotHI[i4+m] = fabs(ufi])*NormYh*Gammal[l] - SigmaH*HI[i+m];

static void mdlTerminate(S)
SimStruct *S;

#ifdef MATLAB'MEX'FILE  /* Is this file being compiled as a MEX-file? */

#include ”simulink.c” /* MEX-file interface mechanism */

F#else

#include "cg'sfun.h” /* Code generation registration function */
#endif

/*

PSAC.c

/*

PSAC.c (C-MEX)
Multi Input Multi Output SAC (Parallelized SISO-SAC)

Syntax: [sys, x0] = PSAC(t,x,u,flag,SigmaK0,GammaKI,GammaKP,NOut)
Budi Rachmanto JAIST 19970128

#define S'"FUNCTION'NAME PSAC

#define SigmaKO0 ssGetArg(S,0)

#define GammaKI ssGetArg(S,1)

#define GammaKP ssGetArg(s,2)

#define NOut ssGetArg(5,3)

#include jmath.h;

#include "simstruc.h”

static void mdlInitializeSizes(S)
SimStruct *S;

int m=mxGetPr(NOut)[0];

ssSetNumContStates( S, DYNAMICALLY 'SIZED);
/* number of continuous states (KI) */
ssSetNumDiscStates( S, 0); /* number of discrete states */

ssSetNumlInputs( S, DYNAMICALLY SIZED);

/* number of inputs (Ey,Xm,Um) */
ssSetNumOutputs( S, m); /* number of outputs */
ssSetDirectFeedThrough(S, 1); /* direct feedthrough flag (KP) */
ssSetNumSampleTimes( S, 1); /* number of sample times */
ssSetNumlInputArgs( S, 4); /* number of input arguments */
ssSetNumRWork( S, 0); /* number of real work vector elements */
ssSetNumIWork( S, 0); /* number of integer work vector elements */
ssSetNumP Work( S, 0); /* number of pointer work vector elements */

static void mdlInitializeSampleTimes(S)
SimStruct *S;

ssSetSampleTimeEvent(S, 0, 0.0);
ssSetOffset TimeEvent(S, 0, 0.0);

static void mdlInitializeConditions(x0,S)
double *x0;
SimStruct *S;

static void mdlOutputs(U’l, KI, z, S, tid)
double *U'l, *KI, *z; /* z=[Ey,Xm,Um] T */
SimStruct *S;
int tid;
int i;
int m=ssGetNumOutputs(S);
double *GammaP;

GammaP = mxGetPr(GammaKP);

= (*(KI+i) -z[i]*z[i] *GammaP[0])*z[i]
+ (*(KI+i4m) -z[i]*z[i+m] *GammaP[1])*z[i+m]
+ (*(KI+i4+m4m)-z[i]*z[i+m+m]*GammaP[2])*z[i+ m+m];

~
*

This function is called once for every major integration time step.
Discrete states are typically updated here, but this function is useful

for performing any tasks that should only take place once per integration
step.

x* X X ¥
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*/

*/

static void mdlUpdate(x, u, S, tid)
double *x, *u;
SimStruct *S;
int tid;

static void mdlDerivatives(dotKI, KI, z, S, tid)

double *dotKI, *KI, *z; /* z=[Ey,Xm,Um]|"T */
SimStruct *S;
int tid;

int i;

int m=ssGetNumOutputs(S);

int n=ssGetNumlInputs(5);

double SigmaK, EyQuad=0., *Gammal;

Gammal = mxGetPr(GammaKI);
®

for(i=0; ijm; i+4) EyQuad += z[i]*a[i];
SigmaK = mxGetPr(SigmaKo0)[0]*EyQuad/(1+EyQuad);
*/

SigmaK = mxGetPr(SigmaKOo0)[0];

for(i=0;im;i++)-
*(dotKI4i) = -z[i]*s[i] *Gammal[0] - SigmaK**(KI+i);
*(dotKI4i+m) = -z[i]*s[i+m] *Gammal[l] - SigmaK**(KI+i+m);
*(dotKI4+i+m+m)= -z[i]*z[i+m+m]*Gammal[2] - SigmaK**(KI+i+m+m);

static void mdlTerminate(S)
SimStruct *S;

#ifdef MATLAB'MEX'FILE  /* Is this file being compiled as a MEX-file? */

#include ”simulink.c” /* MEX-file interface mechanism */

F#else

#include "cg'sfun.h” /* Code generation registration function */
#endif

/*

RNLC.c

/*

RNLC.c (C-MEX)
Reduced NonLinear Compensator for MIMOSAC

Budi Rachmanto JAIST 19970128

#define S'"FUNCTION'NAME RNLC

#define Sigma0 ssGetArg(S,0)

#define Epsilon ssGetArg(S,1)

#define GammaHI ssGetArg(5,2)

#define GammaHP ssGetArg(s,3)

#define NOut ssGetArg(S,4)

#define sgn(x) (double)((x;0.)-(x;0.))

#include jmath.h;

#include "simstruc.h”

static void mdlInitializeSizes(S)
SimStruct *S;

int m=mxGetPr(NOut)[0];

ssSetNumContStates( S, m); /* number of continuous states (HI) */
ssSetNumDiscStates( S, 0); /* number of discrete states */
ssSetNumlInputs( S, m); /* number of inputs (Ey) */
ssSetNumOutputs( S, m); /* number of outputs */
ssSetDirectFeedThrough(S, 1); /* direct feedthrough flag (HP) */
ssSetNumSampleTimes( S, 1); /* number of sample times */
ssSetNumInputArgs( S, 5); /* number of input arguments */
ssSetNumRWork( S, 0); /* number of real work vector elements */
ssSetNumIWork( S, 0); /* number of integer work vector elements */
ssSetNumP Work( S, 0); /* number of pointer work vector elements */

static void mdlInitializeSampleTimes(S)
SimStruct *S;

ssSetSampleTimeEvent(S, 0, 0.0);
ssSetOffset TimeEvent(S, 0, 0.0);

static void mdlInitializeConditions(x0,S)

Syntax: [sys, x0] = RNLC(t,x,u,flag,SigmaH,Epsilon,GammaHI,GammaHP,NOut)
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*/

double *x0;
SimStruct *S;

static void mdlOutputs(U'R, HI, u, S, tid)

double *U'R, *HI, *u; /* u=(Ey,Ya,dot Ya) */
SimStruct *S;
int tid;

int i,j, m=ssGetNumOutputs(5);

double HO,H1,Hz,Hze,epsilon,NormYh,*GammaP;

epsilon = mxGetPr(Epsilon)[0];

GammaP = mxGetPr(GammaHP);

for(i=0; ijm; i++4)-

Hz = HI[{] + sqrt(u[i]*ufi]) *GammaP[0];
Hze = fabs(Hz*uli]);
if(Hze;=epsilon) U'R[i] = -Hz*Hz*u[i]/epsilon;

. else U'R[i] = -Hz*sgn(uli]);

/*
* This function is called once for every major integration time step.
* Discrete states are typically updated here, but this function is useful
* for performing any tasks that should only take place once per integration
* step.
*/
static void mdlUpdate(x, u, S, tid)
double *x, *u;
SimStruct *S;
int tid;

static void mdlDerivatives(dotHI, HI, u, S, tid)

double *dotHI, *HI, *u; /* u=(Ey,Ya,dot Ya) */
SimStruct *S;
int tid;

int i, m=ssGetNumOQutputs(S);

double SigmaH, NormYh, *Gammal;

for(i=0; ijm; i++4)-
SigmaH = mxGetPr(Sigma0)[0];
Gammal = mxGetPr(GammaHI);
dotHI[i] = fabs(ul[i])*Gammal[0] - SigmaH*HI[i];

static void mdlTerminate(S)
SimStruct *S;

#ifdef MATLAB'MEX'FILE  /* Is this file being compiled as a MEX-file? */

#include ”simulink.c” /* MEX-file interface mechanism */

F#else

#include "cg'sfun.h” /* Code generation registration function */
#endif

/*
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